PLEASANTVILLE BOARD OF EDUCATION

Pleasantville High School/701 Mill Road/Cafeteria BOARD WORKSHOP/ACTION MEETING

Tuesday, July 11, 2017 6:00 P.M. AGENDA

- 1. Call to Order
- 2. Reading of the Open Public Meeting Act Notice

Statement –Board President

"This is to advise those present at this July 11, 2017, Board Workshop/Action Meeting of the Board of Education of the City of Pleasantville, in the County of Atlantic, that Notice was given on January 11, 2017, of the 2017 Revised Annual Designation of the Regular Monthly Board Meetings, as required by the provisions of Chapter 231 of the Laws of 1975; Notice thereof has been distributed for publication in the Press, the Absecon/Pleasantville Current and the Mainland Journal, posted in the Administration Building and forwarded to the City Clerk of the City of Pleasantville, within the time required by said act."

3. Roll Call – Board Secretary, Mr. Elisha Thompkins:

Member	Yes	No	Abstain	Absent
James Barclay				
Bernice Couch				
Lawrence Davenport				
Anny E. Melo				
Sharnell Morgan				
Elysa Sanchez				
Ethel Seymore				
Carla Thomas				

- 4. Flag Salute and Moment of Silence
- 5. Public Comments: Please limit comments to (3) minutes and all comments should be courteous and respectful.
- 6. Review of Board Minutes- May 24, 2017 May 30, 2017 June 13, 2017

Board Approval of Workshop/Action Agenda Items

- 7. Finance
- 8. Facilities
- 9. Human Resources
- 10. Policy
- 11. Curriculum & Instruction
- 12. Executive Session

PLEASANTVILLE BOARD OF EDUCATION Pleasantville High School/701 Mill Road/ Cafeteria FINANCE AGENDA ITEMS REGULAR BOARD WORKSHOP MEETING Tuesday, July 11, 2017

- 1. Approval of the Bill List for June 30, 2017 Warrant Account in the amount \$ 920,741.48. The payments have been reviewed by the Business Administrator/Board Secretary.
- 2. Approval of June 2, 2017 Payroll and Board Share of FICA/Medicare in the amount of \$ 2,091,841.99. The payments have been reviewed by the Business Administrator/Board Secretary.
- 3. Approval of June 16, 2017 Payroll and Board Share of FICA/Medicare in the amount of \$ 1,036,967.12. The payments have been reviewed by the Business Administrator/Board Secretary.
- 4. Approval of June 21, 2017 Payroll and Board Share of FICA/Medicare in the amount of \$ 1,573,987.17. The payments have been reviewed by the Business Administrator/Board Secretary.
- 5. Approval of June 30, 2017 Payroll and Board Share of FICA/Medicare in the amount of \$ 159,685.98. The payments have been reviewed by the Business Administrator/Board Secretary.
- 6. Approval of the Transfers for Fund 11 account ending May 31, 2017 in the amount of 1,201,073.00. The Transfers have been reviewed by the Business Administrator/Board Secretary.
- 7. Approval of the Transfers for Fund 15 account ending May 31, 2017 in the amount of \$302,266.00. The Transfers have been reviewed by the Business Administrator/Board Secretary.

8. Certification of No Over Expenditure

Pursuant to N.J.A.C. 6A:22-2.11 (c), I, Mr. Elisha Thompkins, Jr., Board Secretary, certify that as of May 31, 2017 no budgetary line item account has obligation and payments which in total exceed the amount appropriated by the District Board of Education pursuant to N.J.S.A.18A:22-8 and 18A:22-8.1, and that the District financial accounts have been reconciled and are in balance.

- Acceptance of the Treasurer and Secretary Reports for the month ending May 31, 2017. The Treasurer of School
 Monies and the Board Secretary's Reports are in balance for the cash receipts and disbursements for the month
 ending May 31, 2017.
- 10. **Resolution to accept** the award for the 21st Century Community Learning Center Grant in the amount of \$425,000.00.

(SEPTEMBER 1, 2017 THROUGH AUGUST 31, 2018 – YEAR 4 OF 5).

Background

The 21st Century Community Learning Centers Competitive Grant offers academic remediation and enrichment activities in tandem with a broad array of other enrichment activities in the areas of arts and culture, your development, and physical activity to students and their adult family members when school in is not in session. The purpose of the 21st CCLC program is to supplement the education of students in grades 4th through 12th,

- who attend schools eligible for Title I schoolwide programs. The initial award year was September 1, 2014, and the five year grant program will end August 31, 2019.
- 11. **Resolution to approve** the renewal of the TALX Corporation agreement for the 2017-2018 unemployment management claims service from July 1, 2017 through June 30, 2018 cost not exceed 1,883.00 utilizing account# 11-000-230-590-0000-351.
- 12. **Resolution to approve** the 21st Century Community Learning Center (C.A.R.E.) for the following field trips:

Philadelphia Zoo	July 7, 2017	3 Buses
Wheaton Village	July 11, 2017	2 Buses
King Pin Bowling	July 14, 2017	3 Buses
Medieval Times	July 21, 2017	2 Buses
Franklin Institute	July 28, 2017	3 Buses
Young's Skating	August 4, 2017	3 Buses

- 13. **Resolution to approve** the GEAR UP programs transportation to ACCC starting on July 12, 2017 thru August 17, 2017 Monday- Thursday.
- 14. **Resolution to approve** the Coalition for Safe Communities student program transportation to New Jersey State Police Regional Operational Intelligence Center (R.O.I.C) on August 10, 2017 to Trenton, NJ
- 15. **Resolution** for the Pleasantville Board of Education to approve 2015-2016 (ESY) Extended School Year (2015-2016 Fiscal Year) Transportation for Pleasantville Students for the following locations:
 - A. Reeds School (1 students) Time: 8:30 a.m.-12:30 p.m.
 - B. Swift Elementary (1 students) Times: 9:00 a.m.-12:00pm.
 - C. Sabater School Center (1 students) Time: 8:30 a.m.-1:30 p.m.
 - D. Cape County Special Services (1 students) Time: 9:00 a.m. 2:15 p.m.
 - E. Atlantic County Special Services School District (31 students) Time: 9:00 a.m.-2:00 p.m.
 - F. Atlantic City High School (3 students) 7:30a.m.-12:00pm
 - G. YALE School (2 students) 8:30am-1:30pm
 - H. Leeds Avenue School (31 students) Time: 8:30 am- 12:30pm
 - I. Coastal School (3 students) 8:30am-12:30pm
- 16. **Resolution to approve** the Pleasantville Recreation Center for the following field trips:

Young's Skating	July 14, 2017	2 Buses
Strike Zone	July 21, 2017	2 Buses
Wildwood Splash Zone	July 28, 2017	3 Buses
FunPlex (Mt. Laurel)	August 4, 2017	3 Buses
Young's Skating	August 11,2017	2 Buses
Clementon Park	August 18, 2016	3 Buses

- 17. **Resolution to approve** Atlantic County Library System for the Pleasantville High School Library from July 1, 2017 through June 30, 2018 in the amount of \$ 12,000.00 utilizing account #15-000-222-500-0000-050.
- 18. **Resolution to approve** Atlantic County Library System for the Middle School of Pleasantville Library from July 1, 2017 through June 30, 2018 in the amount of \$8,000.00 utilizing account #15-000-222-340-0000-055.

- 19. Resolution to approve Billy Young, Technology Aide at the Pleasantville High School to receive payment for providing sound/audio supplement services at the Board of Education meeting effective July 1, 2017- June 30, 2018 at a rate of \$30.00 per hour not exceed 140 hours (40 board meeting at 4 hours each meeting) not to exceed \$4,200.00 utilizing account # 11-000-252-100-0000-334.
- 20. **Resolution** for the Pleasantville Board of Education to approve the Renewal Application for Temporary Instructional Space for the 2017-2018 School Year for the following School/Location:
 - a. Decatur Avenue (Annex)- Room Location DA14/First Floor
 - b. Decatur Avenue (Annex)- Room Location DA15/First Floor
 - c. Pleasantville High School- Room Location: Trailer #1/ First Floor
 - d. Pleasantville High School- Room Location: Trailer #2/ First Floor
 - e. Pleasantville High School- Room Location: Trailer #3/First Floor
 - f. Pleasantville High School- Room Location: Trailer #4/ First Floor
- 21. **Resolution to approve** the attached "Toilet Room Facilities for Early Intervention, Pre-Kindergarten and Kindergarten Classroom" as per N.J.A.C. 6A: 26-6.3 (h)ii for the following schools and rooms for the 2017-2018 school year:
 - A. North Main Street School-Room Numbers 101,102,107, 108
 - B. Leeds Avenue School-Room Number 118
 - C. Decatur Avenue School- Room Number DA1, DA3, DA4, DA5, DA7, DA8, DA9, DA10, DA11, DA12, DA13, DA14, DA15
- 22. **Whereas**, the Pleasantville Board of Education advertised for Substitute Teacher Staffing Services RFP 17-06 in the Press of Atlantic City on May 4, 2017; and

Whereas, the Pleasantville Board of Education received RFP's from Sources 4 Teachers Solutions, in the amount of \$124.36 per assigned substitute and a RFP from Insight Workforce Solution in the amount of \$129.20 per assigned substitute for the RFP Opening on May 28, 2017; so

Therefore Be it Resolved, that the Pleasantville Board of Education approves Sources 4 Teacher LLC for the 2017-2018 school year in the amount not to exceed \$124.36 per assigned substitute utilizing account # 11-110-100-320-0000-236,11-120-100-320-0000-236,11-130-100-320-0000-236,and 11-140-100-320-0000-236. Pending County approval.

23. **Whereas**, the Pleasantville Board of Education advertised for 2017-2018 School Related Field Trips (Bid # PPS 17-15) in the Press of Atlantic City on June 22, 2017;and

Whereas, the Pleasantville Board of Education received one (1) Bid from Integrity Transportation for the July 6, 2017, Bid Opening; so

Therefore, Be it *Resolved*, the Pleasantville Board Education will award Integrity Transportation for 2017-2018 School Related Field Trips. Cost of \$200.00 per various bus field trip and additional cost of \$100.00 per hour; utilizing account # 11-000-270-512-xxxx. Pending County approval.

24. **Whereas**, the Pleasantville Board of Education advertised for 2017-2018 School Related Athletics (Bid # PPS 17-16) in the Press of Atlantic City on June 22, 2017; and

Whereas, the Pleasantville Board of Education received no Bids for the July 6, 2017, Bid Opening; so

Therefore, Be it *Resolved*, the Pleasantville Board Education will re-advertise for 2017-2018 School Related Athletics as (Bid PPS 17-16 (a)). Pending County approval.

25. **Whereas**, the Pleasantville Board of Education advertised for 2017-2018 ACIT Transportation (Bid # PPS 17-17) in the Press of Atlantic City on June 22, 2017; and

Whereas, the Pleasantville Board of Education received one (1) Bid from Integrity Transportation for the July 6, 2017, Bid Opening; so

Therefore, Be it *Resolved*, the Pleasantville Board Education will award Integrity Transportation for 2017-2018 ACIT Transportation. Pending County approval.

Atlantic County Vocational School

Route Name	Cost per Bus	Adjustment Provision
VOT 041	230.00	1.00
VOT 042	230.00	1.00
VOT 043	230.00	1.00
VOT 044	230.00	1.00
VOT 045	230.00	1.00

Additional deduction of 5% to be applied to each route and aide cost for bulk bid award; not to exceed \$207,000 utilizing account 11-000-270-515-0000-XXX.

26. **Whereas**, the Pleasantville Board of Education advertised for 2017-2018 Non Public Transportation (Bid # PPS 17-18) in the Press of Atlantic City on June 22, 2017;and

Whereas, the Pleasantville Board of Education received no Bids for the July 6, 2017, Bid Opening; so

Therefore, Be it *Resolved*, the Pleasantville Board Education will re-advertise for 2017-2018 Non Public Transportation as (Bid PPS 17-18 (a)). Pending County approval.

27. **Whereas**, the Pleasantville Board of Education advertised for 2017-2018 Charter School Transportation (Bid # PPS 17-19) in the Press of Atlantic City on June 22, 2017;and

Whereas, the Pleasantville Board of Education received one (1) Bid from Integrity Transportation received no Bids for the July 6, 2017, Bid Opening; so

Therefore, Be it *Resolved*, the Pleasantville Board Education will award Integrity Transportation for 2017-2018 Charter School Transportation. Pending County approval.

Charter School - Atlantic Community Charter School						
Route Name Cost per Bus Adjustment Provision						
ACCS 046	300.00	0	1.00			
ACCS 047	300.00)	1.00			

Additional deduction of 17% to be applied to each route and aide cost for bulk bid award; not to exceed \$108,000 utilizing account 11-000-270-512-0000-XXX

28. **Whereas**, the Pleasantville Board of Education is the owner of certain surplus property which is no longer needed for public use; and

Whereas, the Board are desirous of selling said surplus property in an "as is" condition without express or implied warranties.

Now Therefore, be it Resolved, by the Pleasantville Board of Education in the City of Pleasantville, County of Atlantic, as follows:

- (1) The sale of the surplus property shall be conducted through GovDeals pursuant to State Contract A-83453/T2581 in accordance with the terms and conditions of the State Contract. The terms and conditions of the agreement entered into with GovDeals is available online at govdeals.com and also available from the Pleasantville Board of Education.
- (2) The sale will be conducted online and the address of the auction site is govdeals.com.
- (3) The sale is being conducted pursuant to Local Finance Notice 2008-9.
- (4) A list of the surplus property to be sold is as follows:

1	1998	1500 Chevy pick-up	1GCEC 14W6W Z1980 38
2	1998	2500 Chevy pick-up plow	1GCGK 24R3W E1891 71
3	1997	3500 GMC Van	1GDHG 35F2V 10924 02
4	1997	Ford F150	1FTDF 1724V NB349 06
5	2008	Blue Bird 54 Passenger Bus	1BAKF CKH98 F2521 20
6	1998	Chevrolet 3500 Box Truck	1GBJG 31R1W 11067 99
7	1998	Chevrolet 3500 Box Truck	1GBJG 31R8W 11059 39

- (5) The surplus property as identified shall be sold in an "as-is" condition without express or implied warranties with the successful bidder required to execute a Hold Harmless and Indemnification Agreement concerning use of said surplus property.
- (6) The Pleasantville Board of Education reserves the right to accept or reject any bid submitted.
- 29. **Resolution to approve** the following (Homeless Student) Tuition Contract Agreement to attend school for the 2017-2018 school year at the listed "Receiving" School district with Pleasantville Board of Education as the "Sending" school district.
- 30. **Resolution to approve** Mary Fran Blisard to provide speech related services to the students of the Pleasantville Public Schools 2017-2018. Mary Fran Blisard will be providing services as needed for speech. Funds to be paid from account number 11-000-216-320-0000-400 not to exceed \$5,250.00
- 31. **Resolution to approve** Home Instruction compensatory education hours for student 11231587 / 8403136682 grade 10 for a projected 90 hours for a cost per hour of \$45.00 with a projected total cost not to exceed \$4,050.00 utilizing Account 11-219-100-101-0000-400. The home instruction will occur weekdays between July 1, 2017 August 31, 2017

- 32. **Resolution to approve** the Pleasantville Board of Education RFP Special Education IEP to be awarded to IEP Direct / Centris Group recently acquired by Frontline Education / Frontline IEP Inc., for the 2017-2018 fiscal year in an amount not to exceed \$20,130.00.
- 33. **Resolution to approve** Danelle Connelly-Stoppel, School Psychologist to provide Bilingual Psychosocial Assessments for students requiring Bilingual Psychological at \$450.00 and Bilingual Psychological/Social Assessments at the rate of \$900 per evaluation. Not to exceed \$6,000.00 on an as needed basis for school year 2017-2018, utilizing Account# 11-000-219-320-0000-400
- 34. **Resolution to approve** to approve Novlette Brooks to provide CPR training and certification to Pleasantville Public School staff. Janet's Law mandates staff to be CPR certified and able to utilize an AED or perform CPR in an emergency. Novlette Brooks will provide the mandated training afterschool at \$30.00 per hour. A session consists of four (4) hours of training. Staff participating in the training will not be paid to be certified and will purchase their own CPR-Cards at the rate of \$15.00 each. The presenter, Novlette Brooks, will be paid from Account #15-000-213-100-0000-050
- 35. **Resolution to approve** the Alcove Center for Grieving Children and Families to provide bereavement support groups in the Pleasantville Public Schools to students requiring bereavement support. The groups are run as a peer support group, not a therapy group. Groups will be chosen by their respective schools and Alcove will facilitate the groups. This service to the District is for the 2017-2018 school year. There is no charge to the District.
- 36. **Resolution** to allow Rite Aid Pharmacy to provide flu shots to the staff of the Pleasantville Public Schools. Rite Aid will come to each school and provide a flu shot to staff during established times. There is no cost to the district or to staff with insurance.

9/18/2017	10:30 am - 12 noon	WAS
9/18/2017	12:15 pm - 1:45 pm	NMSS
9/19/2017	10:30 am - 12 noon	SMSS
9/19/2017	12:15 pm - 1:45 pm	DAP
9/20/2017	10:30 am - 12 noon	LAS
9/20/2017	12:15 pm - 1:45 pm	MSP
9/21/2017	10:30 am - 1:00 pm	PHS

37. Resolution for Pleasantville Public Schools to approve the Out of District Placement for 2017-18 Special Education Students.

Student Id # State Id #	Location	Effective Date	Services	Tuition	Status	Grade	Funding Source
3081523 8632378036	Atlantic County Special Services	July 5, 2017 – August 1, 2017	2017 ESY Tuition	\$2,200.00	Continuing	8	110001005650000400
13510347 7910046177	Atlantic County Special Services	July 5, 2017 – August 1, 2017	2017 ESY Tuition	\$2,200.00	Continuing	5	110001005650000400
13526531 8256083188	Atlantic County	July 5, 2017 – August 1, 2017	2017 ESY Tuition	\$4,500.00	Continuing	3	110001005650000400

	Special Services		and 1:1 Aide				
2080070 9521085965	Atlantic County Special Services	July 5, 2017 – August 1, 2017	2017 ESY Tuition	\$2,200.00	Continuing	9	110001005650000400
3005675 3896473623	Atlantic County Special Services	July 5, 2017 – August 1, 2017	2017 ESY Tuition	\$2,200.00	Continuing	8	110001005650000400
2085043 9251228907	Atlantic County Special Services	July 5, 2017 – August 1, 2017	2017 ESY Tuition	\$2,200.00	Continuing	9	110001005650000400
13066660 9770519397	Atlantic County Special Services	July 5, 2017 – August 1, 2017	2017 ESY Tuition	\$2,200.00	Continuing	2	110001005650000400
3002968 7156548757	Atlantic County Special Services	July 5, 2017 – August 1, 2017	2017 ESY Tuition	\$2,200.00	Continuing	8	110001005650000400
3067464 5951003535	Atlantic County Special Services	July 5, 2017 – August 1, 2017	2017 ESY Tuition	\$2,200.00	Continuing	5	110001005650000400
3085463 2465209963	Atlantic County Special Services	July 5, 2017 – August 1, 2017	2017 ESY Tuition	\$2,200.00	Continuing	4	110001005650000400
Student Id # State Id #	Location	Effective Date	Services	Tuition	Status	Grade	Funding Source
12777128 6626922618	Atlantic County Special Services	July 5, 2017 – August 1, 2017	2017 ESY Tuition and 1:1 Aide	\$4,500.00	Continuing	1	110001005650000400
11227744 4585760458	Atlantic County Special Services	July 5, 2017 – August 1, 2017	2017 ESY Tuition	\$2,200.00	Continuing	5	110001005650000400
13380637 8119245906	Atlantic County Special Services	July 5, 2017 – August 1, 2017	2017 ESY Tuition	\$2,200.00	Continuing	2	110001005650000400
13236361 4403380052	Atlantic County Special Services	July 5, 2017 – August 1, 2017	2017 ESY Tuition	\$2,200.00	Continuing	2	110001005650000400

12980335 7806720306	Atlantic County Special Services	July 5, 2017 – August 1, 2017	2017 ESY Tuition	\$2,200.00	Continuing	7	110001005650000400
12232364 5219112458	Atlantic County Special Services	July 5, 2017 – August 1, 2017	2017 ESY Tuition	\$2,200.00	Continuing	2	110001005650000400
3062803 6276027481	Atlantic County Special Services	July 5, 2017 – August 1, 2017	2017 ESY Tuition	\$2,200.00	Continuing	5	110001005650000400
12503052 8513554925	Atlantic County Special Services	July 5, 2017 – August 1, 2017	2017 ESY Tuition	\$2,200.00	Continuing	8	110001005650000400
11715497 1249490676	Atlantic County Special Services	July 5, 2017 – August 1, 2017	2017 ESY Tuition	\$2,200.00	Continuing	3	110001005650000400
13191471 2044976114	Atlantic County Special Services	July 5, 2017 – August 1, 2017	2017 ESY Tuition	\$2,200.00	Continuing	1	110001005650000400
1995100 9818709863	Atlantic County Special Services	July 5, 2017 – August 1, 2017	2017 ESY Tuition	\$2,200.00	Continuing	11	110001005650000400
Student Id # State Id #	Location	Effective Date	Services	Tuition	Status	Grade	Funding Source
1725002 2334492957	Atlantic County Special Services	July 5, 2017 – August 1, 2017	2017 ESY Tuition	\$2,200.00	Continuing	12	110001005650000400
1760089 5654205973	Atlantic County Special Services	July 5, 2017 – August 1, 2017	2017 ESY Tuition	\$2,200.00	Continuing	12	110001005650000400
1780009 2617292086	Atlantic County Special Services	July 5, 2017 – August 1, 2017	2017 ESY Tuition	\$2,200.00	Continuing	12	110001005650000400
3041863 9947303948	Atlantic County Special Services	July 5, 2017 – August 1, 2017	2017 ESY Tuition and 1:1 Aide	\$4500.00	Continuing	10	110001005650000400

1625006 4991500403	Atlantic County Special Services	July 5, 2017 – August 1, 2017	2017 ESY Tuition	\$2,200.00	Continuing	12	110001005650000400
1885001 7580636653	Atlantic County Special Services	July 5, 2017 – August 1, 2017	2017 ESY Tuition	\$2,200.00	Continuing	12	110001005650000400
1895086 7250327472	Atlantic County Special Services	July 5, 2017 – August 1, 2017	2017 ESY Tuition	\$2,200.00	Continuing	11	110001005650000400
12755131 8525979133	Atlantic County Special Services	July 5, 2017 – August 1, 2017	2017 ESY Tuition	\$2,200.00	Continuing	12	110001005650000400
12842561 5719716183	Atlantic County Special Services	July 5, 2017 – August 1, 2017	2017 ESY Tuition	\$2,200.00	Continuing	10	110001005650000400
12861805 2267437731	Atlantic County Special Services	July 5, 2017 – August 1, 2017	2017 ESY Tuition	\$2,200.00	Continuing	12	110001005650000400
3005611 2273984315	Y.A.L.E. SCHOOL EAST	July 5, 2017 – August 15, 2017	2017 ESY Tuition	\$8,717.70	Continuing	8	110001005660000400
Student Id # State Id #	Location	Effective Date	Services	Tuition	Status	Grade	Funding Source
13244984 4707757081	Y.A.L.E. SCHOOL EAST	July 5, 2017 – August 15, 2017	2017 ESY Tuition and 1:1 Aide	\$14,417.7 0	Continuing	10	110001005660000400
1695072 7576897537	Atlantic City High School	July 5, 2017 – July 27, 2017	2017 ESY Tuition	\$2,765.23	Continuing	12	110001005620000400
3082363 6984075950	Atlantic City High School	July 5, 2017 – July 27, 2017	2017 ESY Tuition and 1:1 Aide	\$3,955.23	Continuing	12	110001005620000400
3082463 9229499631	Atlantic City High School	July 5, 2017 – July 27, 2017	2017 ESY Tuition	\$2,765.23	Continuing	10	110001005620000400
3085743 4849825481	Reeds Road –	July, 10, 2017 – August 3, 2017	2017	\$2,139.36	Continuing	4	110001005620000400

	Galloway Township		ESY Tuition				
11504163 4506982955	Gloria Sabater School – Vineland School District	July 10, 2017 – August 3, 2017	2017 ESY Tuition and 1:1 Aide	\$6,061.06	Continuing	3	110001005620000400
1780022 6615096250	Cape May County Special Services	July 5, 2017 – August 3, 2017	2017 ESY Tuition and 1:1 Aide	\$4,500.00	Continuing	12	110001005650000400
3046201 9323160954	Coastal Learning Center	July 5, 2017 – June 30, 2018	2017 ESY and 2017/18 School Year Tuition	\$58,694.1 6	Continuing	6	110001005660000400
13172738 5425078678	Coastal Learning Center	July 5, 2017 – June 30, 2018	2017 ESY and 2017/18 School Year Tuition	\$58,694.1 6	Continuing	5	110001005660000400

Student Id #	Location	Effective Date	Services	Tuition	Status	Grade	Funding Source
State Id#							
11274574 3322148939	Coastal Learning Center	July 5, 2017 – June 30, 2018	2017 ESY and 2017/18 School Year Tuition	\$58,694.16	Continuing	4	110001005660000400

MOTION BY:	SECOND BY:	Yea: Nay:
------------	------------	-----------

ROLL CALL:

Member	Yes	No	Abstain	Absent
James Barclay				
Bernice Couch				
Lawrence Davenport				
Anny E. Melo				
Sharnell Morgan				
Elysa Sanchez				
Ethel Seymore				
Carla Thomas				

PLEASANTVILLE BOARD OF EDUCATION Pleasantville High School/701 Mill Road/ Cafeteria FACILITIES USAGE AGENDA ITEMS REGULAR BOARD WORKSHOP MEETING

Tuesday, July 11, 2017

1. The June 13, 2017 Facilities Usage Report 157-162; APPROVED BY MR. ANDERSON INTERIM SUPERINTENDENT 6/14/2017**

Req #	Bld / Area	Event/Contact	Date(s)	Times	5	Staff					Co	st		
				Beg.	En d	#Att	SC	CS	ST	LG	Staff	Fac	App Fee	Balance Due
157	PHS Cafeteria	AARP Pleasantville Chapter#5317 Monthly Meetings David Prescott, President	Saturdays Monthly 9/17-6/18	11:00am- 1:00pm		70	NA	1	NA	NA	BC	NC	Pd	BC
158	PHS Cafeteria	PHS – Athletic Dept. Cross Country & Track/Field Programs Alan Laws	Wednesday 6/14/17	4:00pm- 8:00pm		50	NA	1	NA	NA	BC	NC	NC	ВС
159	PHS Cafeteria	PHS – Athletic Dept. Cheerleading Program Michelle Everett	Thursday 6/15/17	4:00pm- 8:00pm		50	NA	1	NA	NA	BC	NC	NC	BC
160	PHS Cafeteria	PHS – Athletic Dept. Softball, Baseball & Boys Volleyball Programs	Monday 6/19/17	4:00pm- 8:00pm		50	NA	1	NA	NA	BC	NC	NC	BC
161	PHS Athletic Field	PHS - Football Team Parent/Player Meeting Chris Sacco	Thursday 8/3/17	6:00pm- 7:30pm		100	NA	2	NA	NA	BC	NC	NC	BC
162	MSP Cafetorium	Baitual Nasr Masjid Zakiyah Abdullah	Sunday 6/25/17	8:00am- 12:00pm		100	NA	2	NA	NA	\$240.	NC	Pd	BC
001	MSP Cafetorium	The Brown Family Meeting	Sunday 7/30/17	3:00pm- 7:00pm		30	NA	1	NA	NA	\$120.	\$100	\$50	\$270.00

MOTION BY:		SECOND BY:	Yea:	Nay:
	ROLL CALL:			

Member	Yes	No	Abstain	Absent
James Barclay				
Bernice Couch				
Lawrence Davenport				
Anny E. Melo				
Sharnell Morgan				
Elysa Sanchez				
Ethel Seymore				
Carla Thomas				

PLEASANTVILLE BOARD OF EDUCATION HUMAN RESOURCES AGENDA ITEMS

Board Workshop/Action Meeting Tuesday, July 11, 2017

It is recommended that the Board of Education accepts the recommendation of the Superintendent and hereby approves the following:

1. New Hires (Pending Criminal History Clearance):

Name	Position	Location	Effective Date	Salary	Funding Source		
Dana DiMarco	Teacher (Sp. Ed. MD)	NMSS	September 1, 2017 – June 30, 2018	\$53,511.00 (BA/ Step 4)	15-213-100-101-0000-085		
Samantha Gladis	Teacher (Math)	PHS	September 1, 2017 – June 30, 2018	\$52,875.00 (BA/Step 1)	15-140-100-101-0000-050		
James Nagbe	Dean of Students	MSP	September 1, 2017 – June 30, 2018	\$58,634.00 (MA/Step 10)	15-000-240-103-0000-055		
Jennifer Nevarez	Teacher (Sp. Ed.)	MSP	September 1, 2017 – June 30, 2018	\$57,829.00 (MA+30/Step 4)	15-204-100-101-0000-055		
Jeffrey Silver	Teacher (History)	PHS	September 1, 2017 – June 30, 2018	\$53,511.00 (BA/ Step 4)	15-140-100-101-0000-050		

2. SUBSTITUTE:

Name	Position	Location	Effective Date	Salary	Funding Source
Christina Noble	Substitute	District	July 1, 2017 –	\$12.00 per hour	11-000-230-100-0000-351
	Secretary		June 30, 2018		

3. RETIREMENT:

Name	Position	Location	Effective Date	Salary	Funding Source
Nancy Wiesenfeld	Guidance	LAS	September 30, 2017	N/A	N/A
	Counselor				

4. RESIGNATIONS:

Name	Position	Location	Effective Date	Salary	Funding Source
Michelle Jacobs	Teacher	NMSS		N/A	N/A
Matthew Krason	Teacher	LAS	June 25, 2017	N/A	N/A
Waterlow Reacon	10001101	2,10	04110 20, 2011	1777	14/74
Ozelm Sahingoz	Bus Aide (Part-time)	Transportation	June 10, 2017	N/A	N/A

5. REAPPOINTMENT FOR THE 2017-2018 SCHOOL YEAR:

Name	Position	Location	Effective Date	Salary	Funding Source
Jennifer Builes	Teacher	SMSS	July 1, 2017 – June 30, 2018	\$56,738.00 (MA/Step 7)	15-120-100-101-0000-095

6. FMLA LEAVE WITH PAY AND WITH BENEFITS (UNTIL ACCUMULATED LEAVE IS EXHAUSTED AT WHICH TIME STAFF WILL BE OBLIGATED TO COBRA BENEFITS. ALL STAFF WILL CONTINUE TO BE OBLIGATED TO MAKE PREMIUM CONTRIBUTIONS):

Name	Position	Location	Effective Date	Salary	Funding Source
Antoinette Barnes	Guidance Counselor	MSP	April 14, 2017 – June 30, 2017	N/A	N/A
Rashid Brown	Custodian	WAS	July 12, 2017 – June 30, 2018 (Intermittent)	N/A	N/A
Charlotte Manning	Teacher	SMSS	September 5, 2017 – November 27, 2017	N/A	N/A
Maureen Roundtree	Secretary	PHS	July 1, 2017 – June 30, 2018 (Intermittent)	N/A	N/A
Cassandra Russell	Teacher	SMSS	May 23, 2017 – June 30, 2017	N/A	N/A
Samantha Wilson	School Psychologist	MSP	September 1, 2017 – November 21, 2017	N/A	N/A

7. STAFF TRANSFERS:

Name	Position	Location	Effective Date	Salary	Funding Source
Hassan Abdur-Raheem	Teacher	LAS to MSP	September 1, 2017 – June 30, 2018	N/A	15-130-100-101-0000-055
Dorothea Bickel	Teacher	ECH to NMSS	September 1, 2017 – June 30, 2018	N/A	15-120-100-101-0000-085
Nicole Bishop	Executive Secretary	ECH to Central Registration	July 3, 2017 – June 30, 2018	N/A	11-000-211-100-0000-434
Jennifer Builes	Teacher	PHS to SMSS	September 1, 2017 – June 30, 2018	N/A	15-204-100-101-0000-095
Derrick Carrington	Teacher	NMSS to SMSS	September 1, 2017 – June 30, 2018	N/A	15-120-100-101-0000-095
Annette Del Rio	Secretary	PHS to MSP	July 3, 2017 – June 30, 2018	N/A	15-000-240-105-0000-055
Elizabeth DuBose	Teacher	MSP to SMSS	September 1, 2017 – June 30, 2018	N/A	15-204-100-101-0000-095
Jessica Gaeckle	Teacher	LAS to PHS	September 1, 2017 – June 30, 2018	N/A	15-240-100-101-0000-050
Damaris Hernandez	Secretary	MSP to Central Registration	July 3, 2017 – June 30, 2018	N/A	11-000-211-100-0000-434
Renee Hill	Principal Secretary	Special Services to LAS	July 3, 2017 – June 30, 2018	N/A	15-000-240-105-0000-080
Jessica Howell	Teacher	PHS to MSP	September 1, 2017 – June 30, 2018	N/A	15-130-100-1010000-055
Renee Irwin	Teacher	MSP to PHS	September 1, 2017 – June 30, 2018	N/A	15-140-100-101-0000-050

Name	Position	Location	Effective Date	Salary	Funding Source
H. Charles Jones	Custodian	NMSS to LAS	July 1, 2017 – June 30, 2018	N/A	11-000-262-100-0000-080
Jeffrey Laster	Teacher	MSP to LAS	September 1, 2017 – June 30, 2018	N/A	15-120-100-101-0000-080
Turkessa Lee	Social Worker	MSP to PHS	September 1, 2017 – June 30, 2018	N/A	15-000-211-100-0000-050
Darryl Lindenmuth	Teacher	NMSS to MSP	September 1, 2017 – June 30, 2018	N/A	15-130-100-101-0000-055
Shambria Mayes	Secretary	LAS to PHS (Security)	July 3, 2017 – June 30, 2018	N/A	15-000-240-105-0000-050
Edward Morgan	Teacher	WAS to LAS	September 1, 2017 – June 30, 2018	N/A	15-120-100-101-0000-080
Dawn Morris	Teacher	NMSS to WAS	September 1, 2017 – June 30, 2018	N/A	15-120-100-101-0000-060
Kathleen Reeves	Teacher	WAS to SMSS	September 1, 2017 – June 30, 2018	N/A	15-213-100-101-0000-095
Marjorie Rose	Teacher	PHS to LAS	September 1, 2017 – June 30, 2018	N/A	15-240-100-101-0000-080
Maureen Roundtree	Secretary	PHS to Funded Programs	July 3, 2017 – June 30, 2018	N/A	15-000-218-105-0000-050
Cassandra Russell	Teacher	SMSS to MSP	September 1, 2017 – June 30, 2018	N/A	15-240-100-101-0000-055
Sylvia Stephens	Teacher	WAS to SMSS	September 1, 2017 – June 30, 2018	N/A	15-213-100-101-0000-095
Marc Wasserman	Teacher	WAS to NMSS	September 1, 2017 – June 30, 2018	N/A	15-120-100-101-0000-080
Katharine Watson	Teacher	MSP to PHS	September 1, 2017 – June 30, 2018	N/A	15-140-100-101-0000-050
Monica White	Secretary	PHS to LAS	July 3, 2017 – June 30, 2018	N/A	15-000-240-105-0000-080
Karen Uqdah	Secretary	C&I to Special Services	July 3, 2017 – June 30, 2018	N/A	11-000-219-105-0000-434

8. SALARY ADJUSTMENTS (PURSUANT TO THE COLLECTIVE BARGAINING AGREEMENT):

Name Position Location Effective Date Salary Funding	Source
Karen Uqdah Secretary Special Services July 1, 2017 – June 30, 2018 \$36,036.00 (C2/Step 3) Salary at +\$5,000.00 11-000-20 (C2/Step 3) Salary at +\$5,000.00	219-105-0000-434 adjustment to the interim stipend Bullying Specialist

Name	Position	Location	Effective Date	Salary	Funding Source
Cassandra Russell	Teacher	SMSS	July 1, 2017 – June 30, 2018	\$61,061.00 (BA+30/Step 12) to \$84,646.00 (BA+30/Step 16)	15-213-100-101-0000-050 Salary adjustment is pursuant to N.J.S.A.18A:29-11 (Military Experience)

9. PHS & MSP – ATHLETIC COACHING POSITIONS FOR 2017-2018 SCHOOL YEAR (PENDING CRIMINAL HISTORY CLEARANCE AND VERIFICATION OF EDUCATIONAL OR SUBSTITUTE TEACHER CERTIFICATION):

Name	Position	Location	Effective Date	Salary	Funding Source
Kyle Kohr	Boys' Fall Football	PHS	July 1, 2017-	\$4,105.00	15-402-100-100-0000-050
(Teaching Certificate)	Assistant Coach		June 30, 2018		
Patrick Chilliri	Boys' Fall Soccer Head	PHS	July 1, 2017 –	\$4,761.00	15-402-100-100-0000-050
(Teaching Certificate)	Coach		June 30, 2018		
Replacing Mark Eykyn					
Richard McAllister	Girls' Fall Soccer	PHS	July 1, 2017 –	\$3,374.00	15-402-100-100-0000-050
(Teaching Certificate)	Assistant Coach		June 30, 2018		
Replacing Erik Clark					
Frankie Hall-Watson	Girls' Spring Softball	MSP	July 1, 2017 –	\$2,446.00	15-402-100-100-0000-055
(Teaching Certificate)	Head Coach		June 30, 2018	(Board approved 6/13/2017 Stipend amount revised to Head Coach)	
Matthew Mierzwinski	Boys' Spring Baseball	PHS	July 1, 2017 –	\$3,374.00	15-402-100-100-0000-050
(Teaching Certificate)	Assistant Coach		June 30, 2018		
Replacing Patrick					
Chilliri					

10. STUDENT INTERNSHIP/TEACHING/ FIELDWORK PLACEMENTS (PENDING CRIMINAL HISTORY CLEARANCE):

Name	Placement/Assignment	Location	Effective Date	Salary	Funding Source
John Toland	Principal Certification	PHS	July 1, 2017 –	N/A	N/A
(Stockton University)	Program/ Edward Bonek		June 30, 2018		
Nicholas Brenan	Erik Clark	PHS	September 8, 2017 –	N/A	N/A
(Stockton University)	Grade 9 / Mathematics		December 9, 2017		
Kristina Curtis	Michelle McCline	NMSS	September 8, 2017 –	N/A	N/A
Stockton University)	Grade 4 / Elementary		December 9, 2017		
ValKyrie Falciani	Sara Bailey	PHS	January 2, 2018 –	N/A	N/A
(Stockton University)	Grade 9-11 / Biology		May 4, 2018		
Christopher Mancuso	Mary Lenahan	LAS	September 1, 2017 –	N/A	N/A
(Stockton University)	Grade 4-5 / Elementary		December 16, 2017		
Sarah Rinderer	Jonathan Polhemus	PHS	September 8, 2017 –	N/A	N/A
(Stockton University)	Grade 9-12 / Biology		December 9, 2017		
Susan Shapteban	Scott Rullan	PHS	September 8, 2017 –	N/A	N/A
(Stockton University)	Grade 9 / Mathematics		December 9, 2017		
Krista Thomson	Grace Connelly	SMSS	September 8, 2017 –	N/A	N/A
(Stockton University)	Grade 2 / Elementary		December 9, 2017		
Kaity Washington	Beth Maisto	SMSS	September 1, 2017 –	N/A	N/A
(Stockton University)	Grade 1 / Elementary		December 16, 2017		

11. SUMMER C.A.R.E. STAFF 2016-2017 SCHOOL YEAR (PENDING CRIMINAL HISTORY CLEARANCE AND BASED ON ADEQUATE STUDENT INVOLVEMENT) ALL SUBSTITUTES WILL BE USED ON AN AS NEEDED BASIS:

Name	Position	Location	Effective Date	Salary	Funding Source				
C.A.R.E. INSTRUCTOR ***APPROVED BY MR. ANDERSON INTERIM SUPERINTENDENT OF SCHOOLS 6/23/2017**									
Bryan Barnes	C.A.R.E. Instructor	LAS SMSS PHS MSP NMSS	June 26th 2017- Orientation Program dates: July 5th 2017 - August 11th, 2017	Orientation 4 x \$25 = \$100 22 Hours total x \$25 per hour=550.00. Total not to exceed \$750.00	20-291-100-100-00-545 (2016-2017 21st CCLC)				
C.A.R.E. INSTRUCTORS	***Additional Ho	OURS***							
Quenna Martin	C.A.R.E. Instructor	LAS SMSS PHS MSP NMSS	July 12, 2017 - August 11, 2017	\$25 per hour not to exceed 30 hours (\$750.00)	20-291-100-100-00-546 (2016-2017 21st CCLC)				
Barbara Maysonett	C.A.R.E. Instructor	LAS SMSS PHS MSP NMSS	July 12, 2017 - August 11, 2017	\$25 per hour not to exceed 54 hours (\$1,350.00)	20-291-100-100-00-547 (2016-2017 21st CCLC)				
Willie Ceasar	C.A.R.E. Instructor	LAS SMSS PHS MSP NMSS	July 12, 2017 - August 11, 2017	\$25 per hour not to exceed 54 hours (\$1,350.00)	20-291-100-100-00-548 (2016-2017 21st CCLC)				
Wayne Monroe	C.A.R.E. Instructor	LAS SMSS PHS MSP NMSS	July 12, 2017 - August 11, 2017	\$25 per hour not to exceed 54 hours (\$1,350.00)	20-291-100-100-00-549 (2016-2017 21st CCLC)				

12. ATHLETIC SUMMER CAMP PROGRAM 2017 (PENDING CRIMINAL HISTORY CLEARANCE AND BASED ON ADEQUATE STUDENT INVOLVEMENT:

Name	Position	Location	Effective Date	Salary	Funding Source
Patrick Chilliri	Boys' Soccer	PHS	July 5, 2017 -	\$45.00/hr. not to	15-402-100-100-0000-050
(Teaching Certificate)	Coach		August 25, 2017	exceed 40 hours not	
Replacing Mark Eykyn				to exceed \$1,800.00	
Richard McAllister	Girls' Soccer	PHS	July 5, 2017 -	\$45.00/hr. not to	15-402-100-100-0000-050
(Teaching Certificate)	Coach		August 25, 2017	exceed 40 hours not	
Replacing Erik Clark				to exceed \$1,800.00	

Name	Position	Location	Effective Date	Salary	Funding Source
Kyle Kohr	Boys' Football	PHS	July 5, 2017 -	\$30.00/hr. not to	15-402-100-100-0000-050
(Teaching Certificate)	Coach		August 25, 2017	exceed 40 hours not	
				to exceed \$1,200.00	
Matthew Mierzwinski	Boys' Baseball	PHS	July 5, 2017 –	\$45.00/hr. not to	15-402-100-100-0000-050
(Teaching Certificate)	Coach		August 25, 2017	exceed 40 hours not	
Replacing Patrick Chilliri				to exceed \$1,800.00	

Stipulation: Coach/Student Ratio is 2:10

Names denoted with an (*) asterisk are Coaching more than one sport; each sport with different timeslots.

13. 2017 ENGLISH LANGUAGE ACADEMY PROGRAM STAFF:

Staff Member	Position	Location	Effective Date	Salary	Funding Source
Lynn Planner	ESL English	WAS	July 10, 2017-	4 hours per day @	Title III
	Language Academy	SMSS	August 3, 2017	\$45 per hour for 16	20-241-100-101-0000-545
	Teacher	MSP		days. Total not to	
		PHS		exceed \$2,880	

14. NMSS SUMMER SCHOOL IMPROVEMENT PANEL (SCIP):

Name	Position	Location	Effective Date	Salary	Funding Source
Timothy Kelly	Teacher	NMSS	July 1, 2017 – August 31, 2017	\$30.00 per hour not to exceed 10 hours (\$300.00)	15-000-240-104-0000-085

15. PHS - SUMMER BAND CAMP EVENTS/PARADES: GALLOWAY PARADE, PLEASANTVILLE NATIONAL NIGHT OUT:

Name	Position	Location	Effective	Salary	Funding Source
Karla Carmichael	Band Front	PHS	July 4, 2017- July 20, 2017 **Board approved 6/13/2017 date revised	\$45.00 per hour for 2 hours per day for 1 events not to exceed \$90.00	15-401-100-100-0000-050
Elise Thompson Replacing Karla Carmichael	Band Front	PHS	July 21, 2017 September 2, 2017	\$45.00 per hour for 2 hours per day for 1 event not to exceed \$90.00	15-401-100-100-0000-050

16. PHS - SUMMER BAND CAMP PRACTICE/REHEARSAL FOR EVENTS:

Name	Position	Location	Effective	Salary	Funding Source
Karla Carmichael	Band Front	PHS	July 4, 2017- September 2, 2017	\$45.00 per hour not to exceed 10 hours (\$450.00)	15-401-100-100-0000-050
Elise Thompson Replacing Karla Carmichael	Band Front	PHS	July 4, 2017- September 2, 2017	\$45.00 per hour not to exceed 8 hours (\$360.00)	15-401-100-100-0000-050

17. MSP - STEM Project Competition: **Approved by Mr. Anderson Interim Superintendent 6/14/2017**

Staff Member	Position	Location	Effective Date	Salary	Funding Source
Regina Tronu	STEM Teacher	MSP	July 5, 2017-	\$45 per hour for 20	15-401-100-100-0000-055
			August 31, 2017	days. Total not to	
				exceed \$900.00	

18. MSP - STEM Project Competition: ***Approved by Mr. Anderson Interim Superintendent 6/14/2017**

Staff Member	Position	Location	Effective Date	Salary	Funding Source
Michael LaTorre	Horticultural	MSP	July 5, 2017-	\$45 per hour for 20	15-401-100-100-0000-055
	Teacher		August 31, 2017	days. Total not to	
				exceed \$900.00	

19. Resolution to approve the Pleasantville High School AVID site team, a required component of the AVID program, in order to receive certification as an AVID school. The site team's tasks include: Planning the AVID schedule, working with guidance to place students in AVID, align AVID strategies to NJSLS, create an AVID events calendar for the 2017-18 year and work with building coaches to infuse AVID strategies into the schoolwide professional development plan. Throughout the school year, the team will recruit potential AVID students, plan events, collect and monitor data, implement high engagement strategies and provide professional development. The cost for the AVID site team is not to exceed \$13,824.00 utilizing account # 20-231-200-100-0000-545.

PHS AVID SITE TEAM MEMBERS:

Name	Position	Location	Effective	Salary	Funding Source
Constance Chapman	Administrator	PHS	September 1, 2017- June 30, 2018	N/A	N/A
Edward Bonek	Administrator	PHS	September 1, 2017- June 30, 2018	N/A	N/A
Andrea Turner	Administrator	PHS	September 1, 2017- June 30, 2018	N/A	N/A
Michael Pilate	Coordinator of Guidance	PHS	September 1, 2017- June 30, 2018	N/A	N/A
Kelsey Shockley	AVID Site Coordinator	PHS	September 1, 2017- June 30, 2018	A2 Contract \$1,728.00	20-231-200-100-0000-545
Lindsey Marchesani	Academic Coach	PHS	September 1, 2017- June 30, 2018	A2 Contract \$1,728.00	20-231-200-100-0000-545
William Burch	AVID Elective Teacher	PHS	September 1, 2017- June 30, 2018	A2 Contract \$1,728.00	20-231-200-100-0000-545
Michelle Everett	AVID English I Teacher	PHS	September 1, 2017- June 30, 2018	A2 Contract \$1,728.00	20-231-200-100-0000-545
Robyn LaTorre	AVID Science Teacher	PHS	September 1, 2017- June 30, 2018	A2 Contract \$1,728.00	20-231-200-100-0000-545
Ademir Duttweiler	AVID Geometry Teacher	PHS	September 1, 2017- June 30, 2018	A2 Contract \$1,728.00	20-231-200-100-0000-545
Garrow Kerr	AVID History Teacher	PHS	September 1, 2017- June 30, 2018	A2 Contract \$1,728.00	20-231-200-100-0000-545
Scott Rullan	Algebra I Teacher	PHS	September 1, 2017- June 30, 2018	A2 Contract \$1,728.00	20-231-200-100-0000-545

20. Resolution to approve Robyn LaTorre for The Freshman Academy Lead Teacher position for the 2017-2018 school year utilizing account # 20-231-100-100-0000-545.

Names	Position	Location	Effective Dates	Salary	Funding Source
Robyn LaTorre	Lead Teacher for	PHS	July 12, 2017-	A2 Contract	20-231-100-100-0000-545
	Freshman Academy		June 30, 2018	\$3,200.00	

21. Resolution to approve Heather Jewitt for the Stepping up to Greatness Lead Teacher position for the 2017-2018 school year utilizing account # 20-231-100-100-0000-545.

Names	Position	Location	Effective Dates	Salary	Funding Source
Heather Jewitt	Lead Teacher for Stepping up to Greatness	PHS	July 12, 2017- June 30, 2018	A2 Contract for \$3,200.00	20-231-100-100-0000-545

- 22. Resolution to approve Crystal Holt to receive a stipend for the 2017-2018 school year at a rate of \$30.00 per hour not to exceed \$10,000.00 for the District web design and brand design. Ms. Holt will work for additional hours to maintain each school's web page as well as be available after hours and on call for the district administration. Crystal will also be responsible for the creation of district flyers and newsletters as well as additional graphic arts initiatives. This will be effective July 1, 2017 through June 30, 2018; utilizing account# 11-000-252-100-0000-334.
- 23. Resolution to approve ECH Master Teachers Summer hours to collaborate with the C&I District Coaches and revisit/revise the District's Kindergarten Pre-Assessment that will ensure accurate Kindergarten outcomes.

ECH MASTER TEACHERS:

Names	Position	Location	Effective Dates	Salary	Funding Source
Jennifer Elwell	Master Teacher	ECH	July 1, 2017 – August 31, 2017	\$30.00 per hour not to exceed \$720.00	20-231-100-100-0000-545
Katie Kunze	Master Teacher	ECH	July 1, 2017 – August 31, 2017	\$30.00 per hour not to exceed \$720.00	20-231-100-100-0000-545
John Toland	Master Teacher	ECH	July 1, 2017 – August 31, 2017	\$30.00 per hour not to exceed \$720.00	20-231-100-100-0000-545

24. Resolution to approve ECH Program MSW Patricia Dansby to provide assistance and eliminate medical barriers for all district nurses who serve Pre-K at NMSS, LAS, DAP and provider sites. Assess 233 new and returning students medical documentation to determine insurance requirements and provide support to parents.

Names	Position	Location	Effective Dates	Salary	Funding Source
Patricia Dansby	Social Worker	ECH	July 1, 2017 – August 31, 2017	\$30.00 per hour not to exceed 40 hours \$1,200.00	20-218-400-731-0000-234

25. Resolution to approve ECH PIRT/PST members to plan for the 2017-2018 school year by screening 233 enrolled/preschoolers: ESI Class Data Profiles and TPOT preparation: Back to school materials; professional development for current and newly hired staff to program and district.

ECH PIRT/PST MEMBERS:

Names	Position	Location	Effective Dates	Salary	Funding Source
Patricia Pressley	Social Worker	ECH	July 1, 2017 – August 31, 2017	\$30.00 per hour not to exceed 40 hours \$1,200.00	20-231-100-100-0000-545
Nikki Smith	Teacher	ECH	July 1, 2017 – August 31, 2017	\$30.00 per hour not to exceed 40 hours \$1,200.00	20-231-100-100-0000-545

26. Resolution to approve ECH Program Nurse additional hours during the Summer to ensure the newly enrolled preschool students medical records during annual registration process meet all the state requirements prior to school entry in the Fall.

Names	Position	Location	Effective Dates	Salary	Funding Source
Alyse Skeele	School Nurse	ECH	July 1, 2017 – August 31, 2017	\$30.00 per hour not to exceed 25 hours \$750.00	20-218-400-731-0000-234

27. Resolution to approve the Middle School of Pleasantville staff members will work on the AVID Site Team which is a required component of the AVID Program in order to receive certification as an AVID school. The Site Team's tasks include: recruit potential AVID students, determine acceptance criteria, create a rubric for eligibility of AVID, and interview students. Once students have been selected, the AVID Site Team will plan AVID special events, field trips, and guest speakers. Additionally, they will collect and analyze data for the AVID Certification Self-Study. There will be a total of three (3) teachers on the AVID Site Team and they will receive an A-2 contract at the rate of \$1728.00 per person for the 2017-2018 school year. The total cost for the AVID Site Team A-2 contracts is not to exceed \$8, 640.00 utilizing 20-231-200-100-0000-545 (Title I 2017-2018 SIP).

MSP - AVID SITE TEAM MEMBERS:

Name	Position	Location	Effective	Salary	Funding Source
Monica Foti	Teacher	MSP	September 1, 2017 – June 30, 2018	A-2 Contract \$ 1,728.00	20-231-200-100-0000-545
Ashley Hoerr	Teacher	MSP	September 1, 2017 – June 30, 2018	A-2 Contract \$ 1,728.00	20-231-200-100-0000-545
Ninette Philips	Teacher	MSP	September 1, 2017 – June 30, 2018	A-2 Contract \$ 1,728.00	20-231-200-100-0000-545

28. MSP – PBSIS TEAM MEMBERS:

Name	Position	Location	Effective	Salary	Funding Source
Mary Gillespie	SAC	MSP	July 12, 2017 – August 31, 2017	\$30.00 per hour not to exceed \$900.00	15-000-240-104-0000-055
Danielle Percy	Teacher	MSP	July 12, 2017 – August 31, 2017	\$30.00 per hour not to exceed \$900.00	15-000-240-104-0000-055
James Nagbe	Dean of Students	MSP	July 12, 2017 – August 31, 2017	\$30.00 per hour not to exceed \$900.00	15-000-240-104-0000-055

29. MSP - ATTENDANCE COMMITTEE:

Name	Position	Location	Effective	Salary	Funding Source
Frank Cambron	Social Worker	MSP	July 12, 2017 – August 31, 2017	\$30.00 per hour not to exceed \$450.00	15-000-240-104-0000-055
Angela Davis	Teacher	MSP	July 12, 2017 – August 31, 2017	\$30.00 per hour not to exceed \$450.00	15-000-240-104-0000-055
Michelle Ferretti	Teacher	MSP	July 12, 2017 – August 31, 2017	\$30.00 per hour not to exceed \$450.00	15-000-240-104-0000-055
Steven Mitchell	Truancy Officer	District	July 12, 2017 – August 31, 2017	N/A	N/A

James Nagbe	Dean of	MSP	July 12, 2017 –	\$30.00 per hour not	15-000-240-104-0000-055
	Students		August 31, 2017	to exceed \$450.00	

30. MSP - GUIDANCE COUNSELORS SUMMER HOURS TO COMPLETE THE MIDDLE SCHOOL SCHEDULE:

Name	Position	Location	Effective Date	Salary	Funding Source
Christine Teeney	ELA Academic	MSP	July 1, 2017 –	\$45.00 per hour	15-000-240-104-0000-055
(Replacing Antoinette	Coach		August 31, 2017	for 60 hours not	
Barnes)			-	to exceed \$2,700	

31. MSP - SCHOOL IMPROVEMENT PANEL (SCIP):

Name	Position	Location	Effective Date	Salary	Funding Source
Rayna Hendricks	Interim Principal	MSP	September 11, 2017 – June 30, 2018	N/A	N/A
Victoria Williamson	Assistant Principal	MSP	September 11, 2017 – June 30, 2018	N/A	N/A
Ashley Hoerr	Teacher	MSP	September 11, 2017 – June 30, 2018	\$30.00 per hour not to exceed 20 hours (\$600.00)	15-000-240-104-0000-055
Cynthia Rios	Teacher	MSP	September 11, 2017 – June 30, 2018	\$30.00 per hour not to exceed 20 hours (\$600.00)	15-000-240-104-0000-055
Alex Harley	Teacher	MSP	September 11, 2017 – June 30, 2018	\$30.00 per hour not to exceed 20 hours (\$600.00)	15-000-240-104-0000-055

32. MSP SCHOOL LEADERSHIP COMMITTEE (SLC):

Name	Position	Location	Effective Date	Salary	Funding Source
Rayna Hendricks	Interim Principal	MSP	September 11, 2017 – June 30, 2018	N/A	N/A
Victoria Williamson	Assistant Principal	MSP	September 11, 2017 – June 30, 2018	N/A	N/A
Janet Bravo	Teacher	MSP	September 11, 2017 – June 30, 2018	\$30.00 per hour not to exceed \$900.00	15-000-240-104-0000-055
Frank Cambron	Social Worker	MSP	September 11, 2017 – June 30, 2018	\$30.00 per hour not to exceed \$900.00	15-000-240-104-0000-055
Jeanine Doms	Teacher	MSP	September 11, 2017 – June 30, 2018	\$30.00 per hour not to exceed \$900.00	15-000-240-104-0000-055
Dominick Dougherty	Mathematics Academic Coach	MSP	September 11, 2017 – June 30, 2018	\$30.00 per hour not to exceed \$900.00	15-000-240-104-0000-055
John Dulski	Teacher	MSP	September 11, 2017 – June 30, 2018	\$30.00 per hour not to exceed \$900.00	15-000-240-104-0000-055

Name	Position	Location	Effective Date	Salary	Funding Source
Mary Gillespie	SAC	MSP	September 11, 2017 – June 30, 2018	\$30.00 per hour not to exceed \$900.00	15-000-240-104-0000-055
Christine Grabowski	Instructional Aide	MSP	September 11, 2017 – June 30, 2018	\$30.00 per hour not to exceed \$900.00	15-000-240-104-0000-055
Harry Green	Teacher	MSP	September 11, 2017 – June 30, 2018	\$30.00 per hour not to exceed \$900.00	15-000-240-104-0000-055
Bridgette Hill	Security Officer	MSP	September 11, 2017 – June 30, 2018	\$30.00 per hour not to exceed \$900.00	15-000-240-104-0000-055
Jeffrey Laster	Technology Lead	MSP	September 11, 2017 – June 30, 2018	\$30.00 per hour not to exceed \$900.00	15-000-240-104-0000-055
Alfreda Moore	Parent	MSP	September 11, 2017 – June 30, 2018	N/A	N/A
Lourdes R. Rosario	Secretary	MSP	September 11, 2017 – June 30, 2018	\$30.00 per hour not to exceed \$900.00	15-000-240-104-0000-055
Nicola Tasoff	Teacher	MSP	September 11, 2017 – June 30, 2018	\$30.00 per hour not to exceed \$900.00	15-000-240-104-0000-055
TBD	Community Member	MSP	September 11, 2017 – June 30, 2018	N/A	N/A
Christine Teeney	ELA Academic Coach	MSP	September 11, 2017 – June 30, 2018	\$30.00 per hour not to exceed \$900.00	15-000-240-104-0000-055
Renee Thompson	Teacher	MSP	September 11, 2017 – June 30, 2018	\$30.00 per hour not to exceed \$900.00	15-000-240-104-0000-055

33. WAS - SCHOOL IMPROVEMENT PANEL (SCIP):

Name	Position	Location	Effective Date	Salary	Funding Source
Cynthia Ruiz-Cooper	Principal	WAS	July 1, 2017 – June 30, 2018	N/A	N/A
Renee Gensamer	Academic Coach	WAS	July 1, 2017 – June 30, 2018	\$30.00 per hour not to exceed 4 hours (\$120.00)	15-421-100-101-0000-060
Christina Favre	Teacher	WAS	July 1, 2017 – June 30, 2018	\$30.00 per hour not to exceed 4 hours (\$120.00)	15-421-100-101-0000-060
Marlene Barrera	Teacher	WAS	July 1, 2017 – June 30, 2018	\$30.00 per hour not to exceed 4 hours (\$120.00)	15-421-100-101-0000-060

34. WAS - SCHOOL LEADERSHIP COMMITTEE (SLC):

Name	Position	Location	Effective Date	Salary	Funding Source
Cynthia Ruiz-Cooper	Principal	WAS	July 1, 2017 – June 30, 2018	N/A	N/A
Michael Zain	Teacher	WAS	July 1, 2017 – June 30, 2018	\$30.00 per hour not to exceed 6 hours (\$180.00)	15-421-100-101-0000-060
Diane Thompson	Teacher	WAS	July 1, 2017 – June 30, 2018	\$30.00 per hour not to exceed 6 hours (\$180.00)	15-421-100-101-0000-060
SanJuana Parmer	Teacher	WAS	July 1, 2017 – June 30, 2018	\$30.00 per hour not to exceed 6 hours (\$180.00)	15-421-100-101-0000-060
Susana Faulhaber	Teacher	WAS	July 1, 2017 – June 30, 2018	\$30.00 per hour not to exceed 6 hours (\$180.00)	15-421-100-101-0000-060
Janida Newby	Teacher	WAS	July 1, 2017 – June 30, 2018	\$30.00 per hour not to exceed 6 hours (\$180.00)	15-421-100-101-0000-060
Faith Penrose	Teacher	WAS	July 1, 2017 – June 30, 2018	\$30.00 per hour not to exceed 6 hours (\$180.00)	15-421-100-101-0000-060
Christina Favre	Teacher	WAS	July 1, 2017 – June 30, 2018	\$30.00 per hour not to exceed 6 hours (\$180.00)	15-421-100-101-0000-060
Stefanie Burns	Librarian/Media Specialist	WAS	July 1, 2017 – June 30, 2018	\$30.00 per hour not to exceed 6 hours (\$180.00)	15-421-100-101-0000-060
Sherri Michel	School Psychologist	WAS	July 1, 2017 – June 30, 2018	\$30.00 per hour not to exceed 6 hours (\$180.00)	15-421-100-101-0000-060
Renee Gensamer	Academic Coach	WAS	July 1, 2017 – June 30, 2018	\$30.00 per hour not to exceed 6 hours (\$180.00)	15-421-100-101-0000-060
Marylou Breidenstine	Teacher	WAS	July 1, 2017 – June 30, 2018	\$30.00 per hour not to exceed 6 hours (\$180.00)	15-421-100-101-0000-060
Marlene Barrera	Teacher	WAS	July 1, 2017 – June 30, 2018	\$30.00 per hour not to exceed 6 hours (\$180.00)	15-421-100-101-0000-060

35. WAS - KINDERGARTEN ORIENTATION:

Name	Position	Location	Effective Date	Salary	Funding Source
Michael Zain	Teacher	WAS	August 22, 2017	\$45.00 per hour not to	15-421-100-101-0000-060
				exceed 4 hours (\$180.00)	
Marissa Ward	Teacher	WAS	August 22, 2017	\$45.00 per hour not to	15-421-100-101-0000-060
				exceed 4 hours (\$180.00)	
Stephanie Beningo	Teacher	WAS	August 22, 2017	\$45.00 per hour not to	15-421-100-101-0000-060
				exceed 4 hours (\$180.00)	

Name	Position	Location	Effective Date	Salary	Funding Source
Vanessa Ramirez	Teacher	WAS	August 22, 2017	\$45.00 per hour not to exceed 4 hours (\$180.00)	15-421-100-101-0000-060

MOTION BY:	SECOND BY:	Yea: Nay:
ROLL CALL:		

Member	Yes	No	Abstain	Absent
James Barclay				
Bernice Couch				
Lawrence Davenport				
Anny Melo				
Sharnell Morgan				
Elysa Sanchez				
Ethel Seymore				
Carla Thomas				

PLEASANTVILLE BOARD OF EDUCATION

POLICY AGENDA ITEMS

Board Workshop/Action Meeting Tuesday, July 11, 2017

POLICY:

1.	Resolution to	review and a	pprove the	following	Policies and	Regulations ((Second Readin	a):

P & R 1240	Evaluation of Superintendent (M) (Revised)	
P & R 3126	District Mentoring Program (Revised)	
P & R 3221	Evaluation of Teachers (M) (Revised)	
P & R 3222	Evaluation of Teaching Staff Members, Excluding Teach	ers and Administrators (M) (Revised)
P & R 3223	Evaluation of Administrators, Excluding Principals, Vice	Principals, and Assistant Principals
	(M) (Revised)	·
P & R 3224	Evaluation of Principals, Vice Principals, and Assistant F	Principals (M) (Revised)
P & R 3240	Professional Development for Teachers and School Lea	aders (M) (Revised)
P & R 5610	Suspension (M) (Revised)	, , ,
P 5620	Expulsion (M) (Revised)	
P 8505	Local Wellness Policy/Nutrient Standards for Meals and	other Foods (M) (Revised)
P 8550	Unpaid Meal Charges/Outstanding Food Service Charg	` ' ` '
MOTION BY:	SECOND BY:	_ Yea: Nay:

ROLL CALL:

Member	Yes	No	Abstain	Absent
James Barclay				
Bernice Couch				
Lawrence Davenport				
Anny Melo				
Sharnell Morgan				
Elysa Sanchez				
Ethel Seymore				
Carla Thomas				
James Barclay				

PLEASANTVILLE BOARD OF EDUCATION CURRICULUM & INSTRUCTION AGENDA ITEMS Board Workshop Meeting Tuesday, July 11, 2017

The Superintendent of Schools recommends adoption of the following:

RESOLUTION

The Pleasantville Board of Education is committed to ensuring all students succeed academically and reach their full potential in life. In doing so, it is also committed to providing opportunities for and ensuring that all students (inclusive of English Language Learners and Special Education Students) meet the New Jersey Common Core State Standards and achieve academic and long-life success.

1. WORKSHOP/CONFERENCE ATTENDANCE: (ALL TRAVEL REIMBURSEMENT SUCH AS: MILEAGE, TOLLS AND PARKING MUST HAVE RECEIPTS)

Staff Member	Worksnop/Conference		Date	Cost	Account #
Adcock Danny	PHS	11th. Annual School Safety and Security Conference Sewell, NJ	08-08-17	\$ 0.00	N/A
Bartle William	MSP	AVID 2017 Summer Institute Philadelphia, PA	07-19-17 07-20-17 07-21-17	\$ 760.00 Registration \$ 74.40 Mileage \$ 60.00 Parking \$ 12.00 Tolls	20-231-200-500-0000-545
Bartle William	MSP	The Amistad Commission Due Process Disregarded Emmert Till & the Legacy of Lynching in America Glassboro, NJ	07-24-17 07-25-17 07-26-17	\$ 57.99 Mileage and Tolls	15-000-223-500-0000-055
Carrington Linda	NMSS	NJEA Delegate Conference Boston, MA	07-03-17 07-05-17 07-06-17 HR Director Approved	\$ 0.00	N/A
Hendricks Reyna	MSP	SGO Scoring and Tracking Tool Technical Assistance	07-18-17	\$ 0.00	N/A
Hendricks Reyna	MSP	AVID 2017 Summer Institute Philadelphia, PA	07-19-17 07-20-17 07-21-17	\$ 760.00 Registration \$ 74.40 Mileage \$ 60.00 Parking \$ 12.00 Tolls	20-231-200-500-0000-545
Hendricks Reyna	MSP	Achieve NJ Regional Workshop Summer 2017 Blackwood, NJ	07-27-17	\$ 0.00	N/A

Staff Member	Location	Title of Workshop/Conference	Date	Cost	Account #
Hendricks Reyna	MSP	11th. Annual School Safety and Security Conference Sewell, NJ	08-08-17	\$ 0.00	N/A
Johnson Howard	LAS	SGO Scoring and Tracking Tool Technical Assistance Session	07-18-17	\$ 0.00	N/A
Lewis Joseph	MSP	AVID 2017 Summer Institute Philadelphia, PA	07-19-17 07-20-17 07-21-17	\$ 760.00 Registration \$ 74.40 Mileage \$ 60.00 Parking \$ 12.00 Tolls	20-231-200-500-0000-545
Phillips Ninette	MSP	AVID 2017 Summer Institute Philadelphia, PA	07-19-17 07-20-17 07-21-17	\$ 760.00 Registration \$ 74.40 Mileage \$ 60.00 Parking \$ 12.00 Tolls	20-231-200-500-0000-545
Poinsett Robyn	NMSS	Autism Conference AC, NJ	10-19-17 10-20-17	\$ 500.00 Registration \$ 10.00 Mileage & Toll	11-000-219-500-0000-400
Williamson Victoria	MSP	11th. Annual School Safety and Security Conference Sewell, NJ	08-08-17	\$ 0.00	N/A
Williamson Victoria	MSP	Achieve NJ Regional Workshop Summer 2017 Blackwood, NJ	07-12-17	\$ 0.00	N/A
Williamson Victoria	MSP	SGO Scoring and Tracking Tool Technical Assistance Session	07-18-17	\$ 0.00	N/A
Williamson Victoria	MSP	MSP	AVID 2017 Summer Institute Philadelphia, PA	07-19-17 07-20-17 07-21-17	\$ 760.00 Registration \$ 74.40 Mileage \$ 60.00 Parking \$ 12.00 Tolls

2. Activities

School/Program	Activity	Date	Cost	Account#	Time/Purpose
WAS	Kindergarten	08-22-17	\$ 100.00	Activity Account	8:00am-12:00pm
	Orientation		Refreshments	# 536	Meet and Great for incoming
					Kindergarten Students and
					their families

School/Program	Activity	Date	Cost	Account#	Time/Purpose
WAS	September 11 Remembrance Assembly	09-11-17	\$ 0.00	N/A	9:30am-10:40am
WAS	NJ CAP Program New Jersey Child Assault Prevention	09-19-17 10-31-17	\$ 0.00	N/A	Staff, Student and Parent Bullying Workshops
WAS	See You at The Pole	09-27-17	\$ 0.00	N/A	7:40am-8:00am Students, Staff and Community leaders will gather for a prayer for our schools, community and nation.
WAS	Week of Respect	10-2-17 10-3-17 10-4-17 10-5-17	\$ 0.00	N/A	Dailey activities focusing on promoting a safe, supportive school environment.
WAS	School Violence Awareness Week	10-16-17 10-17-17 10-18-17 10-19-17 10-20-17	\$ 0.00	N/A	Dailey activities, quest speakers, classroom lessons to promote a positive school climate.
WAS	Red Ribbon Week	10-23-17 10-24-17 10-25-17 10-26-17 10-27-17 10-30-17 10-31-17	\$ 0.00	N/A	Dailey activities, quest speakers, classroom lessons to promote Drug awareness
WAS	Scholastic Book Fair	11-20-17 12-08-17	\$ 0.00	N/A	Encourage reading
WAS	Give a Dog a Bone	01-02-18	\$ 0.00	N/A	Collect food, toys and various other items for the local animal shelter.
WAS	Read Across America Week	02-26-18	\$ 150.00 Reading Incentives	Activity Account # 536	
WAS	Bingo for Books	03-01-18	\$ 0.00	N/A	Play literacy games
WAS	Bubbles for Autism	04-27-18	\$ 100.00 Bubbles	Activity Account # 536	Raise Autism Awareness
WAS	Scholastic Book Fair	05-10-18	\$ 0.00	N/A	Encourage reading
WAS	5th. Grade Moving on Ceremony	06-2018	\$ 50.00 Refreshments	Activity Account # 536	Celebrating 5 th . graders moving on to the MSP
LAS	Adopt a School	08-01-17	\$ 0.00	N/A	Club Participants and advisors will clean up the school grounds.
MSP	Back to School Night	09-26-17	\$ 750.00 Refreshments	15-000-240-500-0000-055	5:00-7:00pm

School/Program	Activity	Date	Cost	Account#	Time/Purpose
MSP	6th. Grade	08-10-17	\$ 500.00	15-000-240-500-0000-055	4:00-6:00pm
	Orientation		Refreshments		·

3. FUNDRAISERS:

School	Activity	Start Date	End Date	Purpose	
WAS	Pencil Pull	10-01-17	05-23-18	Raise funds for more library books	
WAS	Staff Jean Day	10-05-17	10-05-17	Raise funds for the American Cancer Society	
WAS	Coin Drive	11-20-17	12-0817	Raise funds for students to use at the	
				Scholastic Book Fair	
WAS	Pennies for Patients	02-05-18	02-15-18	Raise funds for the Leukemia & Lymphoma	
				Society	

4. Field Trips:

4. Field	a Trips:				
School	Activity	Location	Date/Time	Cost	Account#
PHS 9-12 Grade Band	National Night Out - 40 Students - 04 Chaperones	Pleasantville, NJ	08-01-17 5:30-7:30pm	\$ 0.00	N/A
PHS 9-12 Grade Band	Miss America Parade - 40 Students - 04 Chaperones	AC, NJ	09-09-17 3:30-8:00pm	\$ 200.00 Registration	# 70531
NMSS ESY Classes Extended School Year	Birch Grove Park - 20 Students - 07 Chaperones	Northfield, NJ	07-26-17 9:00am-12:00PM	\$ 0.00	N/A
NMSS ESY Classes Extended School Year	Field of Dreams Park - 20 Students - 07 Chaperones	Absecon, NJ	07-12-17 9:00am-12:00pm	\$ 0.00	N/A
ESY Classes Grades Pre-K- 12th. Extended School Year	McDonalds No. of students & chaperones depend on enrollment of students in the program.	Absecon, NJ	July 2017 9:00am-12:00pm Exact Date TBD	\$ 0.00	N/A
ESY Classes Grades Pre-K- 12th. Extended School Year	AC Aquarium No. of students & chaperones depend on enrollment of students in the program	AC,NJ	July 2017 9:00am-12:00pm Exact Date TBD	\$ 0.00	N/A
ESY Classes Grades Pre-K- 12th. Extended School Year	Lucy the Elephant No. of students & chaperones depend on enrollment of students in the program	AC,NJ	July 2017 9:00am-12:00pm Exact Date TBD	\$ 0.00	N/A
ESY Classes Grades Pre-K- 12th. Extended School Year	Funny Farm Rescue Animal Sanctuary No. of students & chaperones depend on enrollment of students in the program	AC,NJ	July 2017 9:00am-12:00pm Exact Date TBD	\$ 0.00	N/A

- **5. Be it Resolved, that the Pleasantville Board of Education approve** the Peace Zone program developed by District teacher Ms. Dempsey.
- **6. Be it Resolved, that the Pleasantville Board of Education approve** The District 2017-2018 School Wide Plans.
- 7. Be it Resolved, that the Pleasantville Board of Education approve the 2017-2020 Bilingual/ESL Three Year Program Plan.

- 8. Be it Resolved, that the Pleasantville Board of Education approve identified staff to attend and participate in Special Education training provided by Stockton University at the Middle School of Pleasantville. Staff will be compensated for 2 hours each staff member a rate of \$ 30.00 per hour total not to exceed \$ 6,000.00 utilizing funding source 11-000-221-500-0000-234.
- 9. Be it Resolved, that the Pleasantville Board of Education approve identified staff to attend and participate in training for the implementation of the New Jersey Tiered System of Support Early Readers Grant program. Meetings and trainings will provided by both the New Jersey State Department of Education grant coach and representatives from Rutgers University. The Meetings /trainings will provide district staff with assistance in reviewing current intervention programs for early readers and will help training participants to align resources and procedures in order to identify learning support strategies for students who are struggling with reading acquisition. Trainings will also focus on reviewing district screening and assessment regimes. Staff will be prepared to turn-key this essential information to building personnel in September, 2017.

Four one hour trainings/ meetings will be held to prepare for program implementation. Two program preparation trainings are slated to occur in July and two in August, 2017.

- **NAME**: New Jersey State Department of Education Tiered System of Supports Early Readers Cohort One grant trainings.
- **POSITION**: Coaches, Teachers, and Administrators
- LOCATION: North Main Street School; Leeds Avenue School
- **EFFECTIVE DATE**: July, 2017-August, 2017
- **SALARY / RATE**: Four 1 hour sessions/trainings @ a rate of \$30.00 per hour for 7 teachers/coaches members. Total not to exceed \$840.00
- **FUNDING SOURCE**: 11-000-223-104-0000-234.

Name	Position	Location	Effective Date	Salary	Funding Source
Kaisha	District Coach	District	July, 2017-August, 2017	4 one hour sessions \$30.00	11-000-223-104-0000-234
Medina	District Coach	District	July, 2017-August, 2017	per hour not to exceed \$120.00	
Renee	Teacher	NMSS	July, 2017-August, 2017	4 one hour sessions \$30.00	11-000-223-104-0000-234
Alford	Teacher			per hour not to exceed \$120.00	
Elizabeth	Teacher	NMSS	July, 2017-August, 2017	4 one hour sessions \$30.00	11-000-223-104-0000-234
Ingargiola				per hour not to exceed \$120.00	
Kathy	Teacher	LAS	July, 2017-August, 2017	4 one hour sessions \$30.00	11-000-223-104-0000-234
McQueen		LAG		per hour not to exceed \$120.00	
Andrea	Teacher	LAS	July, 2017-August, 2017	4 one hour sessions \$30.00 per	11-000-223-104-0000-234
Hindelang		LAS		hour not to exceed \$120.00	
Renee	District Coach	District	July, 2017-August, 2017	4 one hour sessions \$30.00 per	11-000-223-104-0000-234
Gensamer	DISTRICT COACTI	District		hour not to exceed \$120.00	
Aaron	District Coach	District	July, 2017-August, 2017	4 one hour sessions \$30.00 per	11-000-223-104-0000-234
Washington	District Coach	District		hour not to exceed \$120.00	
Teresa	Principal	NMSS	July, 2017-August, 2017	N/A	N/A
McGaney-Guy	Fillicipal	INIVIOO			
Howard	Principal	LAS	July, 2017-August, 2017	N/A	N/A
Johnson	Пппстраг	LAU			

10. Be it Resolved, that the Pleasantville Board of Education approve for permission to apply for the NJ second Language Learning Regional Model Programs initiative Bilingual Bicultural Education District

- Application Form 2018-2020. To highlight the Bilingual, Dual Language, Newcomer's and SIFE program initiatives K-8 at Washington Avenue School and the Middle School.
- 11. Be it Resolved, that the Pleasantville Board of Education approve 1 teachers at 40 hours at \$30.00 an hour not to exceed \$1,200 using account # 11-000-221-104-0000-234 to revise the curriculum and create pacing charts for World Language for grades K-12 to infuse the rigor and continuity to prepare our students across the district to earn the Biliteracy Seal.

Name	Location	Date	Cost	Account Number
Rene Gensamer	WAS/C&I	July 2017	40 Hours @ \$ 30.00 not to exceed \$ 1,200.00	11-000-221-104-0000-234

12. Be it Resolved, that the Pleasantville Board of Education approve 2 teachers at 30 hours each at \$30.00 an hour not to exceed \$1,800 using account # 11-000-221-104-0000-234 to write, curriculum for the High School: Dance II, Theater I and II, Visual Arts I and II using the newly released model curriculum standards.

Name	Location	Date	Cost	Account Number
Rene Gensamer	WAS/C&I	July 2017	30 Hours @ \$ 30.00 not to exceed \$ 900.00	11-000-221-104-0000-234
Kelsey Shockley	PHS/C&I	July 2017	30 Hours @ \$ 30.00 not to exceed \$ 900.00	11-000-221-104-0000-234

- 13. Be it Resolved, that the Pleasantville Board of Education approve the following dates and locations for the Bilingual Advisory meetings across the district per the state requirements. 10/4/2017 at WAS, 10/5/2017 at MSP for (PHS/MSP), 11/15/2017 at LAS, 11/16/2017 at SMSS, 12/6/2017 at LAS, 12/7/2017 at DAC, 2/7/2018 at WAS, 2/8/2018 at SMSS, 3/7/2018 at LAS, 3/8/2018 at NMSS, 4/18/2018 at DAC. Utilizing source Title III 20-241-200-500-0000-545 for refreshments.
- **14. Be** *it* **Resolved, that the Pleasantville Board of Education approve** donation of school supplies for the 2017-2018 school year from The Unforgotten Haven.
- **15. Be it Resolved, that the Pleasantville Board of Education approve** Atlantic Cape Community College Bookstore in connection with Follett Higher Education Group to collect and distribute school supplies to North Main Street School students for 2017-2018.
- **16. Be** *it* **Resolved, that the Pleasantville Board of Education approve** Victoria Williamson to attend AVID Summer Institute July 19 21, 2017. AVID is giving us one free registration.
- 17. Be it Resolved, that the Pleasantville Board of Education approve The Early Childhood Master Teachers to receive ECERS (Early Childhood Environmental Rating Scale-3) online 8 Hour training to ensure program quality, developmentally appropriate classrooms and their reliability in the use of the tool.

Name	Position	Effective Date	Salary	Funding Source
Jennifer Elwell	DAP	July 12, 2018	8 Hours @ \$ 30.00 per hour not to exceed \$ 240.00	20-218-100-101-0000-234
Katie Kunze	DAP	July 12, 2018	8 Hours @ \$ 30.00 per hour not to exceed \$ 240.00	20-218-100-101-0000-234
John Toland	DAP	July 12, 2018	8 Hours @ \$ 30.00 per hour not to exceed \$ 240.00	20-218-100-101-0000-234

- **18. Be it Resolved, that the Pleasantville Board of Education approval** The New Jersey Department of Education Division of Learning Supports and Specialized Services New Jersey Tiered System of Supports Early Reading (**NJTSS-ER**) Grant Project Participating District Agreement.
- 19. Be it Resolved, that the Pleasantville Board of Education approve The Leeds Avenue Virtual Summer School. The ELA and Math skills will be taught throughout the course of the program. Social Studies and Science topics will be tied in with ELA and Math assignments. Instructors will instruct students through multiple Google Apps such as Google Classroom, Google Hangout, G-Mail and You tube as well as through other educational sites as GOFormative.com, Read Works and That Quiz.com. The following teachers will be working the program Mr. Benson, Mr. Fogg, Mrs. Quenna Martin, and Mrs. Tammy Misa.

Name	Position	Location	Effective Date	Salary	Funding Source
Quenna	3 rd	LAS	Aug 1-31, 2017	\$30.00/ hour non student contact 15 hours \$450.00.	15-000-240-140-0000-080
Martin	Grade			\$45.00/hour student contact 10 hours \$450	
Ronald	3 rd	LAS	Aug 1-31, 2017	\$30.00/ hour non student contact 15 hours \$450.00.	15-000-240-140-0000-080
Fogg	Grade			\$45.00/hour student contact 10 hours \$450	
Jayson	3 rd	LAS	Aug 1-31, 2017	\$30.00/ hour non student contact 15 hours \$450.00.	15-000-240-140-0000-080
Benson	Grade			\$45.00/hour student contact 10 hours \$450	
Tammy	3 rd	LAS	Aug 1-31, 2017	\$30.00/ hour non student contact 15 hours \$450.00.	15-000-240-140-0000-080
Misa	Grade			\$45.00/hour student contact 10 hours \$450	

20. Be it Resolved, that the Pleasantville Board of Education approve The Leeds Avenue Leadership Committee for the 2017-018 School Year and Departmentalization Training.

Name	Position	Location	Effective Date	Salary	Funding Source
Johnson Howard	Principal	LAS	Aug 1-31, 2017	N/A	15-000-240-140-0000-080
Spence-Leslie Sheri	Assistant Principal	LAS	Aug 1-31, 2017	N/A	15-000-240-140-0000-080
Barnard Patricia	Teacher	LAS	Aug 1-31, 2017	\$ 30.00 per hour not to exceed 16 hours \$ 480.00	15-000-240-140-0000-080
Bucko James W. Jr.	PE Teacher	LAS	Aug 1-31, 2017	\$ 30.00 per hour not to exceed 16 hours \$ 480.00	15-000-240-140-0000-080
Carrington David	Security	LAS	Aug 1-31, 2017	\$ 30.00 per hour not to exceed 16 hours \$ 480.00	15-000-240-140-0000-080
Cass Marshela	Teacher	LAS	Aug 1-31, 2017	\$ 30.00 per hour not to exceed 16 hours \$ 480.00	15-000-240-140-0000-080
Cohenson Ruth	Media Specialist	LAS	Aug 1-31, 2017	\$ 30.00 per hour not to exceed 16 hours \$ 480.00	15-000-240-140-0000-080
Mays Shambria	Secretary	LAS	Aug 1-31, 2017	\$ 30.00 per hour not to exceed 16 hours \$ 480.00	15-000-240-140-0000-080
Gras Christina	Technology	LAS	Aug 1-31, 2017	\$ 30.00 per hour not to exceed 16 hours \$ 480.00	15-000-240-140-0000-080
Hamlett Leo	Teacher	LAS	Aug 1-31, 2017	\$ 30.00 per hour not to exceed 16 hours \$ 480.00	15-000-240-140-0000-080
Hindelang Andrea	Teacher	LAS	Aug 1-31, 2017	\$ 30.00 per hour not to exceed 16 hours \$ 480.00	15-000-240-140-0000-080
Hopkins Robert	Custodian	LAS	Aug 1-31, 2017	\$ 30.00 per hour not to exceed 16 hours \$ 480.00	15-000-240-140-0000-080

Karpinski Dawn	Teacher	LAS	Aug 1-31, 2017	\$ 30.00 per hour not to exceed 16 hours \$ 480.00	15-000-240-140-0000-080
Briggs Candace	Guidance Counselor	LAS	Aug 1-31, 2017	\$ 30.00 per hour not to exceed 16 hours \$ 480.00	15-000-240-140-0000-080
Lamond Teresa	Teacher	LAS	Aug 1-31, 2017	\$ 30.00 per hour not to exceed 16 hours \$ 480.00	15-000-240-140-0000-080
Lenahan Mary	Teacher	LAS	Aug 1-31, 2017	\$ 30.00 per hour not to exceed 16 hours \$ 480.00	15-000-240-140-0000-080
Low Mary	Teacher	LAS	Aug 1-31, 2017	\$ 30.00 per hour not to exceed 16 hours \$ 480.00	15-000-240-140-0000-080
Mayssonett Barbara	Teacher	LAS	Aug 1-31, 2017	\$ 30.00 per hour not to exceed 16 hours \$ 480.00	15-000-240-140-0000-080
Morris Judy	Teacher	LAS	Aug 1-31, 2017	\$ 30.00 per hour not to exceed 16 hours \$ 480.00	15-000-240-140-0000-080
Primus Syreeta	Teacher	LAS	Aug 1-31, 2017	\$ 30.00 per hour not to exceed 16 hours \$ 480.00	15-000-240-140-0000-080
Martin Quenna	Teacher	LAS	Aug 1-31, 2017	\$ 30.00 per hour not to exceed 16 hours \$ 480.00	15-000-240-140-0000-080

21. Be it Resolved, that the Pleasantville Board of Education approve in house professional development training to help assist SMSS staff improve instruction. Staff members will be paid \$ 30.00 per hour for 3 hours not to exceed \$ 180.00 per staff member utilizing account 15-401-100-100-0000-095.

Name	PD Title	Effective Date	Salary	Funding Source
Chapman	Anything Google	Aug 1-31, 2017	N/A	N/A
Lapell	Beginners, Intermediate &			
Scott	Professional	Aug 1-31, 2017	3 hours not to exceed \$ 180.00	15-401-100-100-0000-095
Darchele				
Kiefer	Interactive Math, Sports and	Aug 1-31, 2017	3 hours not to exceed \$ 180.00	15-401-100-100-0000-095
Michael	Math: Engaging Boys in			
	Instruction			
Cunningham	Math and Intervention	Aug 1-31, 2017	3 hours not to exceed \$ 180.00	15-401-100-100-0000-095
Tatiana	Strategies			
Bey-Burghart	Fontas and Pinnell Guided	Aug 1-31, 2017	3 hours not to exceed \$ 180.00	15-401-100-100-0000-095
Rachel	Reading			
Stocks	Hib & PBSIS	Aug 1-31, 2017	3 hours not to exceed \$ 180.00	15-401-100-100-0000-095
Cynthia				
Hennis	Wilson's Foundation	Aug 1-31, 2017	3 hours not to exceed \$ 180.00	15-401-100-100-0000-095
Jill				
Butterhof		Aug 1-31, 2017	3 hours not to exceed \$ 180.00	15-401-100-100-0000-095
Jill				
Kurtz	Transition from Kindergarten to	Aug 1-31, 2017	3 hours not to exceed \$ 180.00	15-401-100-100-0000-095
Celina	1st. Grade: Foundational Skills			
Roberts	Student Individual Plans	Aug 1-31, 2017	3 hours not to exceed \$ 180.00	15-401-100-100-0000-095
Delores	Behavioral Improvement Plans			
	and Reaching Students.			
Croff	Gradual Release of Instruction:	Aug 1-31, 2017	3 hours not to exceed \$ 180.00	15-401-100-100-0000-095
Eugene	Differentiation of Instruction			
Thomas		Aug 1-31, 2017	3 hours not to exceed \$ 180.00	15-401-100-100-0000-095
Kelly				

Toro Christina	Organizing & Prioritizing: An Educators Need for Balance	Aug 1-31, 2017	3 hours not to exceed \$ 180.00	15-401-100-100-0000-095
Hyman-Medley Felicia	Understanding the Needs of Diverse Students Social and	Aug 1-31, 2017	N/A	N/A
Chapman Lapell	Emotional Learning			
Toro Christina	Writing Literacy	Aug 1-31, 2017	3 hours not to exceed \$ 180.00	15-401-100-100-0000-095
Butterhof Jillian		Aug 1-31, 2017	3 hours not to exceed \$ 180.00	15-401-100-100-0000-095
Cunnigham Tatiana	Data Analysis	Aug 1-31, 2017	3 hours not to exceed \$ 180.00	15-401-100-100-0000-095
Butterhof Jillian		Aug 1-31, 2017	3 hours not to exceed \$ 180.00	15-401-100-100-0000-095
Bey-Bughart Rachel	Unit Planning	Aug 1-31, 2017	3 hours not to exceed \$ 180.00	15-401-100-100-0000-095
Thomas Kelly		Aug 1-31, 2017	3 hours not to exceed \$ 180.00	15-401-100-100-0000-095
Butterhof Jillian		Aug 1-31, 2017	3 hours not to exceed \$ 180.00	15-401-100-100-0000-095
Cunningham Tatiana		Aug 1-31, 2017	3 hours not to exceed \$ 180.00	15-401-100-100-0000-095

- **22.** Be it Resolved, that the Pleasantville Board of Education approve Atlantic Cape Community College Bookstore in Connection with Follett Higher Education Group to collect and distribute school supplies to North Main Street School students for the 2017-2018 school year.
- 23. Be it Resolved, that the Pleasantville Board of Education approve the Early Childhood Master Teachers to receive the state approved ECERS-3 online 8 hour training to ensure program quality, developmentally appropriate classrooms and their reliability in the use of the tool. \$ 30.00 per hour for 3 hours not to exceed \$ 720.00 utilizing funding source 20-218-100-101-0000-234.
- 24. Be it Resolved, that the Pleasantville Board of Education approve two teachers to develop the curriculum, pacing, and complete the Competency Booklet for Roles of the Childcare Professional, a new course to articulate with Atlantic Cape Community College. The team will upload the curriculum, curricular units, instructional units, pacing, and standards in edConnect. The team will work from July 5, 2017 August 31, 2017, for \$30.00 an hour not to exceed \$750.00 total utilizing account #11-000-221-104-0000-234.

Name	Position	Location	Effective Date	Salary	Funding Source
John	Master	ECE	July 5, 2017 - August 31, 2017	\$30.00 per hour, not to exceed	11-000-221-104-0000-234
Toland	Teacher			20 hours, not to exceed \$600.00	
Shockley	demic	}	July 5, 2017 - August 31, 2017	\$30.00 per hour, not to exceed	11-000-221-104-0000-234
Kelsey	ch			20 hours, not to exceed \$600.00	

25. Be it Resolved, that the Pleasantville Board of Education approve two (2) coaches to complete high school summer work from August 1, 2017 to August 31, 2017. (6 hours per day/ 3 days per week- at \$30 per hour for 4 weeks) during the summer to monitor and plan with the Academy teams. In addition, coaches will create a schoolwide professional development calendar focused on engagement strategies, schedule for monitoring interventions and SIP goals and an administrative and coach walkthrough plan. Coaches will provide professional development for teachers regarding interventions, curriculum changes and new

initiatives. High school coaches will also collaborate with the middle school coaches in order to create continuity and ensure a succinct transition for students from 8th to 9th grade. Funding source #15-000-240-104-0000-050.

Names	Position	Location	Effective Dates	Salary	Funding Source
l ,	Academic Coach		, , ,	\$30.00 per hour, not to exceed 144 hours, not to exceed \$2,160.00	15-000-240-104-0000-050
Kelsey Shockley	Academic Coach		, , ,	\$30.00 per hour, not to exceed 144 hours, not to exceed \$2,160.00	15-000-240-104-0000-050

26. Be it Resolved, that the Pleasantville Board of Education approve Pleasantville High School to host a transition session for 10th grade students on August 7, 2017 from 9am-12pm. **Stepping Up To Greatness: Transitioning from Freshman Academy Summer Session**

The session for students will consist of college readiness workshops, conflict resolution practice and strategies for transitioning out of the Freshman Academy. The cost for the Stepping up to Greatness: Transitioning from Freshman Academy summer session is not to exceed \$500.00 for lunches utilizing account 15-000-240-500-0000-050. Teachers are to be paid at a rate of \$45.00 per hour for three hours, not to exceed \$135.00 per teacher not to exceed \$1,080.00 total utilizing account # 20-231-100-100-0000-545.

Staff Salaries

Names	Teacher	Location	Effective Dates	Salary	Funding Source
Constance Chapman	Admin	PHS	August 7, 2017	N/A	N/A
Edward Bonek	Admin	PHS	August 7, 2017	N/A	N/A
Andrea Turner	Admin	PHS	August 7, 2017	N/A	N/A
Michael Pilate	Guidance	PHS	August 7, 2017	N/A	N/A
Kelsey Shockley	Academic Coach	PHS	August 7, 2017	\$45.00 per hour, not to exceed 3 hours, not to exceed \$135.00	20-231-100-100-0000-545
Ademir Duttweiler	Geometry Teacher	PHS	August 7, 2017	\$45.00 per hour, not to exceed 3 hours, not to exceed \$135.00	20-231-100-100-0000-545
Robyn Pallitto	US History I Teacher	PHS	August 7, 2017	\$45.00 per hour, not to exceed 3 hours, not to exceed \$135.00	20-231-100-100-0000-545
Sarah Bailey	Biology Teacher	PHS	August 7, 2017	\$45.00 per hour, not to exceed 3 hours, not to exceed \$135.00	20-231-100-100-0000-545
William Burch	Biology Teacher	PHS	August 7, 2017	\$45.00 per hour, not to exceed 3 hours, not to exceed \$135.00	20-231-100-100-0000-545
Heather Jewitt	English II	PHS	August 7, 2017	\$45.00 per hour, not to exceed 3 hours, not to exceed \$135.00	20-231-100-100-0000-545

Katrina Warren	Geometry Teacher	PHS	August 7, 2017	\$45.00 per hour, not to exceed 3 hours, not to exceed \$135.00	20-231-100-100-0000-545
Josephine Troy	Geometry Teacher	PHS	August 7, 2017	\$45.00 per hour, not to exceed 3 hours, not to exceed \$135.00	20-231-100-100-0000-545

27. Be it Resolved, that the Pleasantville Board of Education approve Stepping Up To Greatness:

Transitioning from Freshman Academy Team: 10th grade teachers for summer work that will be ongoing throughout the school year. The team will design a support system to facilitate a successful transition for students out of the Freshman Academy and into their sophomore year. The team will create, modify and enforce sophomore policies and procedures, create a calendar of events, plan Sophomore Orientation and prepare the 10th grade hallway to reflect academic and behavioral expectations. The team will meet in August on Monday, Wednesday and Thursday from 12-3pm. The cost for the Stepping up to Greatness: Transitioning from Freshman Academy summer team is not to exceed \$4,800.00 utilizing account 20-231-200-100-0000-545

Names	Teacher	Location	Effective Dates	Salary	Funding Source
Constance Chapman	Admin	PHS	August 7, 2017- August 10, 2017	N/A	N/A
Edward Bonek	Admin	PHS	August 7, 2017- August 10, 2017	N/A	N/A
Andrea Turner	Admin	PHS	August 7, 2017- August 10, 2017	N/A	N/A
Michael Pilate	Guidance	PHS	August 7, 2017- August 10, 2017	N/A	N/A
Kelsey Shockley	Academic Coach	PHS	August 7, 2017- August 10, 2017	\$30.00 per hour, not to exceed 20 hours, not to exceed \$600.00	20-231-200-100-0000-545
Lindsey Marchesani	Academic Coach	PHS	August 7, 2017- August 10, 2017	\$30.00 per hour, not to exceed 20 hours, not to exceed \$600.00	20-231-200-100-0000-545
Ademir Duttweiler	Geometry Teacher	PHS	August 7, 2017- August 10, 2017	\$30.00 per hour, not to exceed 20 hours, not to exceed \$600.00	20-231-200-100-0000-545
Robyn Pallitto	US History I Teacher	PHS	August 7, 2017- August 10, 2017	\$30.00 per hour, not to exceed 20 hours, not to exceed \$600.00	20-231-200-100-0000-545

Sarah Bailey	Biology Teacher	PHS	August 7, 2017- August 10, 2017	\$30.00 per hour, not to exceed 20 hours, not to exceed \$600.00	20-231-200-100-0000-545
Jonathan Polhemus	Biology Teacher	PHS	August 7, 2017- August 10, 2017	\$30.00 per hour, not to exceed 20 hours, not to exceed \$600.00	20-231-200-100-0000-545
Josephine Troy	English II	PHS	August 7, 2017- August 10, 2017	\$30.00 per hour, not to exceed 20 hours, not to exceed \$600.00	20-231-200-100-0000-545
Heather Jewitt	English II Teacher	PHS	August 7, 2017- August 10, 2017	\$30.00 per hour, not to exceed 20 hours, not to exceed \$600.00	20-231-200-100-0000-545

28. Be it Resolved, that the Pleasantville Board of Education approve a Summer Advanced Placement (AP) program to raise the academic achievement of 2017-2018 AP students in grades 11-12. Program will run from Aug 1, 2017 through August 24, 2017 and will consist of eight (8) possible courses that will focus on mathematics, English, science, and history. There will be eight (5) teachers at a rate of \$45.00 per hour not to exceed 32 hours (\$1,440.00) per teacher. The total cost for this program is not to exceed \$7,500.00. Funding Source # 15-422-100-100-0000-050.

Names	Teacher	Location	Effective Dates	Salary	Funding Source
Eric	Teacher	PHS	Aug 1, 2017- August 24, 2017	\$45.00 per hour, not to exceed 32	15-422-100-100-0000-050
Clark				hours, not to exceed \$1,440.00	
Johnathan Polhemus	Teacher	PHS		\$45.00 per hour, not to exceed 32 hours, not to exceed \$1,440.00	15-422-100-100-0000-050
Ann Hughes	Teacher	PHS		\$45.00 per hour, not to exceed 32 hours, not to exceed \$1,440.00	15-422-100-100-0000-050
Johnathan Howell	Teacher	PHS		\$45.00 per hour, not to exceed 32 hours, not to exceed \$1,440.00	15-422-100-100-0000-050
Susan Johnston	Teacher	PHS		\$45.00 per hour, not to exceed 32 hours, not to exceed \$1,440.00	15-422-100-100-0000-050

29. Be it Resolved, that the Pleasantville Board of Education approve five (5) teachers at Pleasantville High School to attend six (6) collaborative work sessions, during the summer with the goal of collaborating to identify best instructional practices using standards-based instruction in order to increase student engagement and preparation for PARCC. Algebra I PARCC is the sole assessment requirement for graduation starting with the class of 2021. The team will meet a total of 18 hours over the summer, August 1, 2017 to August 31, 2017. (3 hours per workshop/1 day per week- at \$30 per hour for 6 weeks), utilizing Funding source # 15-000-240-104-0000-050

Names	Position	Location	Effective Dates	Salary	Funding Source
Lindsey	Academic	PHS	Aug 1, 2017 - August 31, 2017	\$30.00 per hour, not to exceed	15-000-240-104-0000-050
Marchesani	Coach			18 hours, not to exceed \$540.00	
Scott	Teacher	PHS	Aug 1, 2017 - August 31, 2017	\$30.00 per hour, not to exceed	15-000-240-104-0000-050
Rullan				18 hours, not to exceed \$540.00	

Robyn	Teacher	PHS	Aug 1, 2017 - August 31, 2017	\$30.00 per hour, not to exceed	15-000-240-104-0000-050
LaTorre				18 hours, not to exceed \$540.00	
Erik	Teacher	PHS	Aug 1, 2017 - August 31, 2017	\$ 30.00 per hour, not to exceed	15-000-240-104-0000-050
Clark				18 hours, not to exceed \$540.00	
Ademir	Teacher	PHS	Aug 1, 2017 - August 31, 2017	\$ 30.00 per hour, not to exceed	15-000-240-104-0000-050
Duttweiler				18 hours, not to exceed \$540.00	

30. Be it Resolved, that the Pleasantville Board of Education approve teachers to be paid at a rate of \$30.00 per hour for eight hours each day (\$240.00) they attend AVID training at the Summer Institute in Philadelphia, PA not to exceed \$720.00 per teacher.

Name	Position	Location	Effective Date	Salary	Funding Source
Scott Rullan	Teacher	PHS		\$30.00 Per hr. not to exceed 24 hours (\$720.00)	20-231-200-100-0000-545
Heather Sickler	Teacher	PHS		\$30.00 Per hr. not to exceed 24 hours (\$720.00)	20-231-200-100-0000-545
William Burch	Teacher	PHS		\$30.00 Per hr. not to exceed 24 hours (\$720.00)	20-231-200-100-0000-545

- 31. Be it Resolved, that the Pleasantville Board of Education approve Pleasantville High School's Summer S.T.E.A.M (science, technology, engineering, arts and mathematics) Enrichment Class. The program will be summer enrichment opportunity for freshman through Senior High School students. The goal of this class will to introduce, instruct and began to prepare students to become future qualified candidates for High-Tech Jobs. This program will provide work readiness skills, Career Planning in the S.T.E.A.M FIELDS, as well as the Work Readiness activities needed to become a desirable employee. At the completion of the summer enrichment program, all participants will have chosen a STEAM CAREER to focus on and completed a Career Portfolio to assist them during the remainder of High School as well as their future.
- **32. Be it Resolved, that the Pleasantville Board of Education approve** a stipend for the teachers of the summer S.T.E.A.M program for 48 hours at \$45 per hour not to exceed a total of \$6,480.00 utilizing account # 15-422-100-100-0000-050.

Name	Position	Location	Effective Date	Salary	Funding Source
William	Teacher -	PHS	July 17, 2017 – August 1, 2017	\$45 per hr. not to 48 hours	15-422-100-100-0000-050
Burch	Technology	FIIS		exceed \$2,160.00	
Kelly	Teacher –	PHS	July 17, 2017 – August 1, 2017	\$45 per hr. not to 48 hours	15-422-100-100-0000-050
Hainsworth	Art	FIIS		exceed \$2,160.00	
James	Teacher –	PHS	July 17, 2017 – August 1, 2017	\$45 per hr. not to 48 hours	15-422-100-100-0000-050
Hutton	Science	FIIO		exceed \$2,160.00	

33. Be it Resolved, that the Pleasantville Board of Education approve Freshman Academy: Part I:

Freshman Orientation: the Pleasantville High school to host a three (3) day Freshman Orientation on August 8, 2017 from 9:00 a.m. to 12:00p.m., August 9, 2017 from 9:00 a.m. to 12:00p.m. The Freshman Orientation will foster a smooth transition from 8th grade to 9th grade. This orientation will allow students an opportunity to participate in team building activities, learn strategies that will help them be successful in the upcoming school year, allow students to build relationships with their teachers and become familiar with the expectations of the high school. Parents/guardians and students will also be provided with useful

information and tips for success. The cost for the food for Freshman Orientation is not to exceed \$1,000.00 utilizing account 15-000-240-500-0000-050. Teachers are to be paid at a rate of \$45.00 per hour for nine hours total, not to exceed \$270.00 per teacher not to exceed \$2,160.00 utilizing account # 20-231-100-100-0000-545 (2017-2018 Sip/Title 1.

Staff Salaries: Total salaries not to exceed \$2,160.00

Name	Position	Location	Effective Date	Salary	Funding Source
Kelsey Shockley	Academic Coach	PHS	8/8/17, 8/9/17,	\$45.00 Per hr. not to exceed 6 hrs. (not to exceed \$270.00)	20-231-100-100-0000-545 (2017-2018 SIP Title I)
Michelle Everett	Teacher	PHS	8/8/17, 8/9/17,	\$45.00 Per hr. not to exceed 6 hrs. (not to exceed \$270.00))	20-231-100-100-0000-545 (2017-2018 SIP Title I)
Robyn LaTorre	Teacher	PHS	8/8/17, 8/9/17,	\$45.00 Per hr. not to exceed 6 hrs. (not to exceed \$270.00)	20-231-100-100-0000-545 (2017-2018 SIP Title I)
Eric Clark	Teacher	PHS	8/8/17, 8/9/17,	\$45.00 Per hr. not to exceed 6 hrs. (not to exceed \$270.00)	20-231-100-100-0000-545 (2017-2018 SIP Title I)
Scott Rullan	Teacher	PHS	8/8/17, 8/9/17,	\$45.00 Per hr. not to exceed 6 hrs. (not to exceed \$270.00))	20-231-100-100-0000-545 (2017-2018 SIP Title I)
Heather Sickler	Teacher	PHS	8/8/17, 8/9/17,	\$45.00 Per hr. not to exceed 6 hrs. (not to exceed \$270.00))	20-231-100-100-0000-545 (2017-2018 SIP Title I)
Richard McAllister	Teacher	PHS	8/8/17, 8/9/17,	\$45.00 Per hr. not to exceed 6 hrs. (not to exceed \$270.00)	20-231-100-100-0000-545 (2017-2018 SIP Title I)
William Burch	Teacher	PHS	8/8/17, 8/9/17,	\$45.00 Per hr. not to exceed 6 hrs. (not to exceed \$270.00)	20-231-100-100-0000-545 (2017-2018 SIP Title I)

34. Be it Resolved, that the Pleasantville Board of Education approve the Freshman Academy teachers for summer work to plan for the 2017-18 school year. The team will continue to develop and implement a support system of shared beliefs and values. The team will create, modify and enforce Freshman Academy policies and procedures, create a calendar of events, plan Freshman Orientation and prepare the Freshman Academy hallway to reflect academic and behavioral expectations. The team will meet in August on Monday, Wednesday and Thursday from 12-3pm. The cost for the Freshman Academy summer team is not to exceed \$6,000 utilizing account 20-231-200-100-0000-545.

Names	Teacher	Location	Effective Dates	Salary	Funding Source
Constance Chapman	Admin	PHS	August 1, 2017- August 31, 2017	N/A	N/A
Edward Bonek	Admin	PHS	August 1, 2017- August 31, 2017	N/A	N/A

Andrea Turner	Admin	PHS	August 1, 2017- August 31, 2017	N/A	N/A
Michael Pilate	Guidance	PHS	August 1, 2017- August 31, 2017		
Kelsey Shockley	Academic Coach	PHS	August 1, 2017- August 31, 2017	N/A	N/A
Lindsey Marchesani	Academic Coach	PHS	August 1, 2017- August 31, 2017	N/A	N/A
William Burch	AVID Elective Teacher	PHS	August 1, 2017- August 31, 2017	\$30.00 per hour, not to exceed 30 hours, not to exceed \$900.00	20-231-200-100-0000-545
Michelle Everett	English I Teacher	PHS	August 1, 2017- August 31, 2017	\$30.00 per hour, not to exceed 30 hours, not to exceed \$900.00	20-231-200-100-0000-545
Erik Clark	Algebra I Teacher	PHS	August 1, 2017- August 31, 2017	\$30.00 per hour, not to exceed 30 hours, not to exceed \$900.00	20-231-200-100-0000-545
Heather Sickler	English I Teacher	PHS	August 1, 2017- August 31, 2017	\$30.00 per hour, not to exceed 30 hours, not to exceed \$900.00	20-231-200-100-0000-545
Scott Rullan	Algebra I Teacher	PHS	August 1, 2017- August 31, 2017	\$30.00 per hour, not to exceed 20 hours, not to exceed \$600.00	20-231-200-100-0000-545
Richard McAllister	English I Teacher	PHS	August 1, 2017- August 31, 2017	\$30.00 per hour, not to exceed 30 hours, not to exceed \$900.00	20-231-200-100-0000-545
Robyn LaTorre	Physics Teacher	PHS	August 1, 2017- August 31, 2017	\$30.00 per hour, not to exceed 30 hours, not to exceed \$900.00	20-231-200-100-0000-545

35. Be it Resolved, that the Pleasantville Board of Education approve Pleasantville High School's Attendance Team to meet during the summer and the school year (at least two days per month) to receive training on building their attendance committee and system within the school, to collaborate and create an Attendance Action Plan for the 2017-2018 school year, including a School Attendance & Student Accountability Manual, and to address issues regarding identified students that are or are at risk of becoming chronically absent, as per the SIP 2017-2018, not to exceed 50 hours per person for the summer and school year from SIP Account # 20-231-200-100-0000-545 not to exceed a total of \$6,000.00.

Name	Positon	Location	Effective Date	Salary	Funding Source
Edward Bonek	Interim- Principal	PHS	July 5, 2017-June 30, 2018	N/A	N/A
Constance Chapman	Assistant Principal	PHS	July 5, 2017-June 30, 2018	N/A	N/A
Andrea Atkins-Turner	Assistant Principal	PHS	July 5, 2017-June 30, 2018	N/A	N/A
Michael Pilate	Guidance	PHS	July 5, 2017-June 30, 2018	N/A	N/A
Deneen McQueen	Social Worker	PHS	July 5, 2017-June 30, 2018	\$ 30.00per hour not to exceed 50 hours, not to exceed \$ 1,500.00	20-231-200-100-0000-545
Novelette Brooks	Nurse	PHS	July 5, 2017 – June 30, 2018	\$30 per hr. not to exceed 50 hrs. not to exceed \$1,500.00	20-231-200-100-0000-545
Sheila Goodson	Attendance Specialist	PHS	July 5, 2017-June 30, 2018	N/A	N/A
Turkessa Lee	Drop Out Prevention Counselor	PHS	July 5, 2017-June 30, 2018	\$ 30.00per hour not to exceed 50 hours, not to exceed \$ 1,500.00	20-231-200-100-0000-545
Christopher Sacco	Guidance Counselor	PHS	July 5, 2017-June 30, 2018	\$ 30.00per hour not to exceed 50 hours, not to exceed \$ 1,500.00	20-231-200-100-0000-545
Andrea Spence	Instructional Aide	PHS	July 5, 2017-June 30, 2018	\$ 30.00per hour not to exceed 50 hours, not to exceed \$ 1,500.00	20-231-200-100-0000-545

36. Be it Resolved, that the Pleasantville Board of Education approve a summer Credit Recovery program to give all students the opportunity to recover credits that they previously lost due to failing courses. This program will run for fifteen days (15) from July 5, 2017 to July 31, 2017. There will be one teacher at a rate of \$45.00 per hour not to exceed 60 hours. The total cost for this program is not exceed \$2,700.00. Funding Source #15-422-100-100-0000-050.

Name	Position	Location	Effective Date	Salary/Rate	Funding Source
Josephine	Teacher	PHS	July 5, 2017 – July 19, 2017	45.00 per hour not to exceed 60	15-422-100-100-0000-050
Troy				hours, not to exceed \$ 2,700.00	

37. Be it Resolved, that the Pleasantville Board of Education approve the following Students for Home Instruction.

Student ID#/State ID #	Projected Number of Days	Projected Number of Hours	Cost Per Hour	Projected Total Cost	TYPE	GRADE	ACCOUNT#
13181946 / 3242465994	11	11	\$45.00	\$495.00	ADMIN	08	11-150-100-101-0000-400

MOTION BY:	SECOND BY:	Yea:	Nay:
------------	------------	------	------

ROLL CALL

Member	YES	NO	Abstain	Absent
James Barclay				
Bernice Couch				
Tony Davenport				
Paul Moore				
Sharnell Morgan				
Richard Norris				
Elysa Sanchez				
Ethel Seymore				
Carla Thomas				

Motion by		Second	by			
Executive Session Motio	n by		and	Seconded by		at
p.m., it is hereby resolve	d that the Ple	asantville B	oard of Educat	ion may go in	to closed or priv	ate session from which
the public shall be exclud-						
subjects shall be discus						
MATTERS, PENDING, A						
session will be disclosed						
maintain the confidential	•			3		,
Roll Call:					_	
Member	Yes	No	Abstain	Absent]	
James Barclay]	
Bernice Couch						
Lawrence Davenport						
Anny E. Melo						
Sharnell Morgan						
Elysa Sanchez						
Ethel Seymore						
Carla Thomas]	
Motion to come out of Ex	ecutive Sessi	on			_	
Motion by:		Seco	nd by:		Yea:	Nay:
Roll Call:					_	
Member	Yes	No	Abstain	Absent]	
James Barclay]	
Bernice Couch						
Lawrence Davenport						
Anny E. Melo						
Sharnell Morgan]	
Elysa Sanchez]	
Ethel Seymore]	
Carla Thomas						

Reconvene Board Meeting

Motion to Adjourn the Meetin	ourn the Meeting	to Ad	Motion
------------------------------	------------------	-------	--------

Motion by	: Second by:	Yea: Nay:

Roll Call:

Member	Yes	No	Abstain	Absent
James Barclay				
Bernice Couch				
Lawrence Davenport				
Anny E. Melo				
Sharnell Morgan				
Elysa Sanchez				
Ethel Seymore				
Carla Thomas				